»

y&£7,.Y,",){'® TOOLCO., LTD.

ERiEe IR ALy
=EEX P

mETIZENR - RN EER

Processing
Conditions

Q /[ [U/VYR) TooL co, LD Y

o +886 425601930 +8613580923172
& +886425608006 #ifE 54754981
’ lianyi.info@gmail.com

By oA HEDER4ER9038 1152858

LA

INDEXABLE INSERT - CUTTING TOOLS

www.lianyi-tool.com




mERTt IR

High Feed Milling Cutter Series

LNO3BE R TIMR T =0
LNO3E ARt I ERT
LNO3 =R imet A%
HNGX09 B ig4asi )48
LPGTO1 =R 188 F X
LPGTO1 A E R L)
LOGUO3E AR Bt I F L
LOGUO3EEHAE RS T)
LOGUO3 S Rt T8
SOMT10EEMR I T 0
SOMT10EEMRERRZET]
SOMT10E ¢4 HETI9E

HBIRTIZRT -
End Milling Cutter Series

AJUIGRSETISRF
SDMTO09 A B #ETIERT

SDMT0975 B #7188 X
SDMTO09%5 B #7438

XNPU105 B EETIS8F T
XNPU1075 B #ETJERZ
XNPU10F B #ETI8
LNGU11 5Bk TIERU
LNGUNM A B#TIRFR
LNGUM S B #kTIE
LNGU15/5 B #t 7
TNGX10 /& k7 m et 748
TNGX1075 B85 78R F =X

I HIKTIRY

Boring&Milling Cutting Series

REIEBTIIR -

Indexable Face Milling Cutter Series

01
01
02

02

03
03
04
04
05
06
06

o7

12
12
13
13
14
14
15
15
16
16
17
17
18

o8

SDMTO9E AR TI AR
ENMUOGEERR S T8 5
ENMU10BERQERTNEET]
WOMU 14 EEHA S T8
BLMPO6S#A#E I8 F 30
HNPJOT SRR T8
SDMTO9SEF =X A 7]
SDMTO9=3E4a#A IS8T =
SNGX7J8H =,
SNGXTJ#488 =X
SNGXERZ
WNMUOTSELSHE T8

TNGX10 5B #TIERT
ADMX0TA BEETIEF =
ADMX07/ B#TIERR

ADMX115 B#E T
WNHX045 B #ETJ#RF =
MPHT0475 B#7J88F =
AP16 A BE#ETIERT
AP B B#HTIRFR
AP B B#TIEMRTU
APKTHB#ETI BRI
CHOSA B# 78 F

RTEEHLTIREF
RT#E#E T2

90EE-HREEE#E T
90FE-HERAEHRT]

45E- RN E ]
8AR#TIR
ASE-RRAmMBTI-HER
4A5E-ERERET]

SNMU1206 Ef#k 7]

24

24

25
25

25

26

07
08
08
09
09

10

10
10
11

11

11

12

18
19
19
20
20
21
21
2
22
23
23

R TIR5

Chamfer Mill Cutter Series

TETIRS

T-Slot Endmill Serieg- —

SEEZIFHIIRTY

Corner Rounding End Mills

E7I#TIHRS -

Round Insert End Mill Cutter Series

REFERT

Indexable Rapid Drill Serles

TRRIEARTIWC-2D
BREERSIWC-3D
HREERFIWC-4D
HREERFIWC-5D
BRERIERYISP-2D
RESERSISP-3D

I IKBUEE TR
Ball Milling Cutter Series

71 2R

Screw of Insert

Hith 5
Other BRI
BB R

CNC 7148

CNC Tooling Systems

HEChEZT]$0

BSDi&#E4E
BSHE Y#E 7148
BSD-ST#5#E4E
AK#EFLTIIE
SCAKES B TR
FBH/MVEXEIE4E
FBHB4XEIEERTIIE
BSHAFLIEHETI4E
BSTAFLZIEI4H
NR-AZWDA:BEE RS E 7138

33

37
39
a1
43

54

SEMT1.3T3 B&A7]
TCEXEIET]

TET]

RN-SRESEREETIIRF X
RN-SRE AR ImEE T2
8RR ImETT )M

RDE7I#% 788
RDEZI#%7] EARTU

RP-4REZ]#A7IEARL

HRRGERFSP-4D
RERIBEFRFISP-5D
HRIERFIWDX-2D
R ERFIWDX-3D
PIRTERTIWDX-4D

ABPFEKTI#EF =
ABPFERTJE AT,

TR 8% Screw of In

UXDi#ER
EXD#EER

FANRIMERTUEE TR
SRKEREARE IR IEAS T8
SGERGEMEAEFETIH
SHOF X FEERE T
FMAE#£7748
SMERELEETIHE
UAHB B A EETIE
TRHAEETIE
TRNAEETIE
TRSNAETETIE
REREE®

29

29

29

30
30
30

31
3
32

45
47
48
49
50

51

3 |

52

25
2

71
72
73
5
76
17
81

83
84
86

XIANI




Sa113S, 49330

2 3unjiy paa4 Yy3iH

il S B4

LNO3SEMRBEIIRT T\

High Feed Milling Cutter Locking Type

LNO3-17-2T-M8 LNMUO303ZER-MJ  TS2508 TUNGALOY

LN03-32-4T-M16 32 M16 LNMUO303ZER-MJ  TS2508 T8  TUNGALOY

35 _

M16 5 LNMUO303ZER-MJ  TS2508 T8 TUNGALOY

LN03-35-5T-M16

LNO35 &R in#t JJ EM I

High Feed End Mill Straight Shank

LYMU0O303ZER-MJ  TS2508 T8

LN03-1616-150-2T 16 2

LN03-1816-150-2T 18 16 LYMUQ303ZER-MJ T52508 T:B'

LN03-2120-150-3T 21 LYMUO303ZER-MJ T8 TUNGALOY

LN03-2625-150-4T LYMUO303ZER-MJ ~ TS2508 T8 TUNGALOY

LN03-3332-150-5T 33 32 LYMUO303ZER-MJ  TS2508 T8  TUNGALOY

TU NGALOY

TU NGALOY

LNO3 = E#R im &t 7] &8

High Feed End Mill Disc Type

LNO03-R050T6-22 22 6 LYMUO303ZER-MJ TS2508 T8 TUNGALOY

" LYMUO303ZER-MJ TS2508 T8 TUNGALOY

HNGX09 EiEa it

High Feed End Mill Disc Type

HNGX09-15R050-T4-22-W 50 4 15° HNGX0906ANSN Ts4511  T20 PRAMET

HNGX09-15R080-T8-25.4-W 80 254 50 8 15° HNGX0906ANSN  TS4511 T20

HNGX09-45R063-T6-25.4-W 63 254 40 194 45° HNGX0906ANSN TS4511  T20

HNGX09-45R100-T10-31.75 100 3175 50 10 45°  HNGXO0906ANSN

PRAMET

PRAMET

234 N S 2 i A

s213S 42130 Sul])




LOGUO3

: % LPGTO1 S ERERNERT] SO TISE O3 o B
P High Feed Milling Cutter Straight Shank High Feed Milling Cutter Locking Type % 2
| TH A=
. ] EEAR . Rd =
a| ﬁ =y Model No. Dimensions (mm) I bl 7JH' B RFE OERDE ﬁ R
| . ) o
7] Right hand 718D B|Ed 2EL Kﬁﬁl‘ﬁ Teety e oflnsert Wieach Passb}:rﬁugh 7] =
: % [ LOGUO3-16-2T-M8 16 8.5 25 M8 2 TS2007 T8 KYOCERA % :_‘:"
: §|J = LOGUO03-17-2T-M8 17 8.5 25 M8 2 LOGUO30310ER-GM  TS3007 T8 KYOCERA Ijlj
o, R~
%ﬁﬁ? Dimerilar (i) | | LOGUO03-18-2T-M8 18 8.5 25 M8 2 LOGUO30310ER-GM  TS3007 T8 KYOCERA
: ) = TE TR Hiﬁﬁ " Pﬁ%‘ﬂﬁ'—_ LOGU03-20-4T-M10 20 105 30 M10 4  LOGUO30310ER-GM  TS3007 T8 KYOCERA
Right hand 78D #R{8d Neck g2 |  Teeth Insert ofineert  Wrench a“t;lac"'z”gh
' t LOGU03-21-3T-M10 21 105 30 M10 3  LOGUO30310ER-GM  TS3007 T8 KYOCERA
GT01-0808-100- 8 8 20 .
LPGTO01-080 1T 100 1 LPGTO10210ER-GM  TS2004 T6 KYOCERA e el s D e s = T
R DL I A | VAN [Fsiion o] INISEOVEN MRS RACUERR LOGUO3-255T-M12 25 125 35 M12 5  LOGUO30310ER-GM  TS3007 T8  KYOCERA
LPEIN-1A10-1002] 40 40 0 a0 2  LPGI00210ER-GM  TS2004 6 RYOCERA LOGU03-26-4T-M12 26 125 35 M12 4  LOGUO30310ER-GM  TS3007 T8  KYOCERA
LPGT01-1312-100-3T 13 120 | 720 100 3 LPGT010210ER-GM  TS2005 T6 KYOCERA LOGUO3-355T-M16 35 17 40 W16 5
LPGT01-1616-100-4T 16 16 25 100 4  LPGTO10210ER-GM  TS2005 T6 KYOCERA
LPGT01-1716-100-4T 17 16 25 100 4 LPGT010210ER-GM  TS2005 T6 KYOCERA LO GUO3 “[
SEREMIUEET] HL_"'“ —_— %—P&
High Feed Milling Cutter Straight Shank
ERH R~ ) )
LPGTO1= & %6. ﬁ 7 ﬁﬁ H:_t Model No. Dimensions (mm) AL ¢ i)y TIR®BM RF BRI B
- wd %ENeck - Screw Pass-through
= 'R 2 x Right hand JHED #HEd | L('-_;c £ L Teeth Insert ofinsert  Wrench "853 oHE Remark
High Feed Milling Cutter Locking Type _ LOGU03-1616-1502T 16 16 30 150 2 LOGUO30310ER-GM  TS3007 T8  KYOCERA
| - ) | LOGU03-1716-150-2T 7 16 20 150 2 |OGUO30310ER-GM  TS3007 T8  KYOCERA
Qr @tﬁ =y LOGU03-1816-150-2T 18 16 20 150 2 LOGUO30310ER-GM  TS3007 T8  KYOCERA
LOGU03-2020-150-3T 20 20 50 150 3 LOGUO30310ER-GM  TS3007 T8  KYOCERA
[ LOGU03-2120-150-3T 21 20 30 150 3 LOGUO30310ER-GM  TS3007 T8 KYOCERA
- - LOGUO32220-150-3T 22 20 20 150 3 LOGUO30310ER-GM  TS3007 T8  KYOCERA
-.Ei:‘;fﬁﬁ' oi ﬁﬂ' () LOGU032525-1504T 25 25 60 150 4  LOGUO30310ER-GM  TS3007 T8  KYOCERA
V No. mensions (mm Sy : -
Hodetiie - T Tk TIRRs  ARF BTN
- g4 Scre e ; 26 25 40 150 4
Right hand J7ED WiEd 2L qu{,ﬁ Teeth nzert o%‘lzmrt Wiahich Passh::a:ugh LOGU03-2625-150-4T LOGUO30310ER-GM  TS3007 T8  KYOCERA
LOGU03-2625-1504T-W 26 25 40 150 4 |LOGUO30310ER-GM  TS3007 T8  KYOCERA CenterOutler
LPGT01-10-2T-M5 10 55 225 M5 2 LPGT010210ER-GM  TS2004 T6 KYOCERA LOGU03-2825-150-4T 28 25 20 150 4  LOGUO30310ER-GM  TS3007 T8  KYOCERA
LPGT01-11-3T-M5 11 55 225 M5 3 LPGT010210ER-GM  TS2004 T6 KYOCERA LOGU03-2825-150-5T 28 25 20 150 5  LOGUO30310ER-GM  TS3007 T8  KYOCERA
LPGT01-123T-M6 12 65 215 M6 3 LPGTO10210ER-GM  TS2005 T6 KYOCERA LOGU03-3032-1504T 30 32 50 150 4 LOGUO30310ER-GM  TS3007 T8  KYOCERA
LPGTO1-13-3T-M6 13 65 215 M6 3 LPGTO10210ER-GM  TS2005 T6  KYOCERA LOGUO3-3232-150.5T 32 32 70200 5 LOGUO30310ER-GM  TS3007 T8  KYOCERA
LPGT01-16-4T-M8 16 8.5 2 M8 4 LPGTO10210ER-GM  TS2005 T6 KYOCERA LOGU03-3232-200-5T 32 32 70 150 5 LOGUO30310ER-GM  TS3007 T8 KYOCERA
LOGU033332-150.5T 33 32 20 150 5  LOGUO30310ER-GM  TS3007 T8  KYOCERA
LPGT01-17-4T-M8 17 85 23 M8 4  LPGTO010210ER-GM  TS2005 T6 KYOCERA
LOGU03-3332-150-5TW 33 32 20 150 5  LOGUO30310ER-GM  TS3007 T8  KYOCERA CenterOutler
LOGU03-3532-150-5T 35 32 20 150 5 LOGUO30310ER-GM  TS3007 T8 KYOCERA




LOGUO3 = EiRim it 7] 8

High Feed End Mill Dise Type

SEREEL T

50 22 50 17
LOGUO3-RO50TE-22-W 2 50 T
LOGUO3-R063T7-254 g3 254 50 194
50 194

-~ o

LOGUO030310ER-GM  TS2508

[=2]

LOGUO030310ER-GM ~ TS2508

n‘!

ENCY CUTTING

SOMT10=E:EMRBTIRF T

High Feed Milling Cutter Locking Type

w R

SOMT10-25-2T-M12 25 12.5 35 M12 2
SOMT10-28-2T-M12 28 12.5 35 M12 2
somTIC 7w ]
SOMT10-35-3T-M16 35 17 40 M16 3

17 40 4

SOMT10EEREMINHET]

High Feed Milling Cutter Straight Shank

SOMT100420ER-GM  TS4009A

SOMT100420ER-GM  TS4009A

SOMT10-2525-150-2T 25 25 50 150 SOMT100420ER-GM  TS4009A T1h KYOCERA
T % 25 s 1 2 TS
28 25 50 150 2 SOMT100420ER-GM  TS400SA T15 KYOCERA
SOMTIORR1S03T 2 B S0 150 3 | TSH09A  TIS  KYOCERA
SOMT10-3532-150-3T 35 32 50 150 3 SOMT100420ER-GM  TS4009A T15 KYOCERA
e I I I L Ctswon s woce
SOMT10-4032-150-4T 40 32 | 50 150 4 SOMT100420ER-GM  TS4009A T15 KYOCERA

20354 N 58 35 ik

S9119S 1911nD Sulj|I pasd UalE




SOMT10 SiEiaRt 7] 8

High Feed Milling Cutters

=
(=]
fm
o
(5]
m
(=3
g!
3
m
0
3
m
-
o

cEREEL T

M

SOMT10-R050T4-25.4 50 254 50 194 4

SOMTI00420ERGM  TS4009A  T15
SOMT10-R063T5254 63 254 50 194 5 |

KYOCERA

SOMT10-R080T7-31.75 80 3175 50 45 7 SOMT100420ER-GM  TS4008A T15

SDMTO9E E#RHE ] 48

High Feed Milling Cutters

WALTER

SDMTO09-15R050T5-22 50 22 50 15.4 5 15° SDMTOQ9T308 M3.5 T15

M35 TI5 W

© SDMT09-15R0637T6:254 63 254 50 189 6 15  SDMT

ENMU10SEMRERTNLET]

High Feed Milling Cutter Straight Shank

1 e T 8 e PO |

ENMU10-1616-150-2T 16 16 25 150
ENMUIGATIBAS02T 17 16 25 150
ENMU10-2020-150-3T 20 20 25 150
ENMU10-2525-150-4T 25 25 30 150
ENMU10-3232-150-5T 32 32 30 150

| o 10

5
&

23
&
8

ENMUOG6 S ERTETIFETF

High Feed Milling Cutter Locking Type

ENMUOQG-16-2T-M8 16 85 25 M8 2
[ENMU06-17-2T-M8 2
ENMUO06-20-3T-M10 20 | M10 | 3
3

4

ENMUO0G-25-4T-M12 25 12.5 35 M12
ENMUOG-26-4T-M12 w2 4
ENMUO06-32-5T-M16 32 17 40 M16 5

M6 5

oo s s W oW NN

Nl
-

ENMU100412ZER-PM

ENMUOG03ER-B

ENMUOGO3ER-B

ENMUOG03ER-B

ENMUOGO3ER-B

TS25083560

DIJET
DIJET
DIJET
DIJET

MOLDINO

MOLDINO

MOLDINO

sanias Jann) Suljjin PSS




WOMU 145 ERa it ]38
BLMPO6 SiEfRtx 718 F High Feed Milling Cutters

=
High Feed Milling Cutter Locking Type - 4o g
= ; A=
o = ey
7] =
Ea + R
an R , .. _ :
= Lo Model No. Dimensions (mm) T8 palay TR®%  RF SEETRA ?IJ
ES e Rt Right hand ﬂbﬁ dﬁ QLE ﬂﬁ&@ Teeth Insert oﬁﬁ"gﬂ Wrench tlgﬁoggh
- Dlmeralons (o S i Tk TIERE RE EETIA
Mﬁ . Lo i WOMU14-R050T3-22 50 22 50 105 3 WOMU140620ER ~ TS5011  T15  MOLDINO
Right hand TJHED W|fEd 2RL Teeth Insert ofinsert  Wrench TS ouE
WOMU14-R063T4-22 63 22 50 105 4 WOMU140620ER  TS5011  T15  MOLDINO
BLMP06-16-2T-M8 16 85 25 M8 2 BLMP0603 HEESEE) RS WOMU14-R063T4-254W 63 254 50 105 4  WOMUT0620ER  TS5011  T15  MOLDINO
BLMP0G-17-2T-M8 17 85 25 M8 2 BLMPOSO3 1825081 ||| TR || TARGUTEC WOMU14-R080T6-27 80 27 63 38 6  WOMUM40620ER  TS5011  T15  MOLDINO
BLMP06-20-3T-M10 20 105 30 M10 3 BLMP0603 TS2508 T8  TAEGUTEC WOMUAARIBOT L3 60 9 €3 45 7 WOMUT40620ER ~ TS5011  T15  MOLDINO
BLMP06-21-3T-M10 21 105 30 M10 3 BLMPdE0s o (e [hEeUEe WOMU14-R125T8-40 125 254 63 56 8  WOMU140620ER  TS5011  T15  MOLDINO
BLMP06-25-4T-M12 25 125 35 M12 4 BLMP0603 TS2508 T8  TAEGUTEC
BLMP06-26-4T-M12 26 125 35 M12 4 BLMP0603 152508 T8  TAEGUTEC = S
- SDMTO09 St I F
BLMP06-32-4T-M16 32 17 40 M16 5 BLMP0603 152508 TAEGUTEC : i .
High Feed Milling Cutter Locking Type
BLMP06-35-5T-M16 35 17 40 M16 5 BLMP0603 TS2508 T8  TAEGUTEC |
e 1 “_».
HNPJOTE a2 7188 | 'y
High Feed Milling Cutters BN ‘
O =, = - -
EmA R : :
Model No. Dimensions (mm) & BE Vi)t TIRB% ®F BEEIIRK
= 7 . Pass-
Right hand IIDE Edﬁ L M Teeth angle Insert Nt Wrench tl-l;rlglégh
SDMT09-35-3T-M16-15 35 17 35 M16 3 15°  SDMT09T308 M35  T15  WALTER
EMEAR R~ . _ _ e
Model No. Dimensions (mm) N BE 7R TIRR#% wF BEIIR SDMTOQ%}T@J%H
= : Pass- ;
o HE AE 28 BEAR Teeth angl Insert Screw ~ -
Right hand sl | SﬁL Eeth Angle i of lasert | (Wiiench) [Ftbeongh Locking Chamfering
HNP JO7-15R050-T5-22-W 50 22 40 17 5 15° HNPJOTO4ANSNGD TS4010  T15 WIDIA

HNP JO7-15R063-T6-254-W 63 254 45 19.4 6  15° HNPJOTO4ANSNGD TS4010  T15 WIDIA

HNP JOT-1SR080-T825.4W 80 254 50 194 8 15" HNPJOTO4ANSNGD TS4010 T15  WIDIA

HNPIOT45R050TS22 50 22 40 17 5  45° HNPJOTO4ANSNGD TS4010 T15  WIDIA Earm

HNPJOT-45R063-T6-22 63 22 40 17 6 45 HNPJOTO4ANSNGD TS4010 T15  WIDIA HodE, Lo % A TA®E  RFE EETA
HNPJOT-45R080-T8-27 80 271 50 38 8  45° HNPJOTO4ANSNGD TS4010 T15  WIDIA Right hand RAE &/VE BEd 2RL wﬁﬁ e ofineert  Wrench Pasibiouen
HNPJO7-45R100-T9-32 100 32 50 45 9  45° HNPJOTO4ANSNGD TS4010 T15  WIDIA SDMT09-248-1T-M6 16 16 85 25 M8 2 SDMTO9T308  TS2508 T8  WALTER

HNPJOT-45R125-T12-40 125 40 63 56 12 45° HNPJOTO4ANSNGD TS4010 T15 WIDIA SDMT09-37.8-3T-M12 17 17 8.5 20 M8 2 SDMT09T308 TS2508 T8 WALTER




SNGX7J#HF

Knife Locking Tooth Type

33 S 82 58S I Tt

X
(=]
=
g
D
o
o
=
=
=
31
|
0
3
0
-
7
m
m
“

SNGX-35-3T-M16 M16 SNGK110416SR-M  TS4012  T15 PRAMET

SNGX7JsHEE

Knife Lock Disc Type

SNGX-R50T6-22 18 SNGK110416SR-M  TS4012  T15 PRAMET

SNGXE R

Straight Handle

SNGX-3532-150-3T M16 3 SNGK110416S5R-M  TS4012 T15 PRAMET

WNMUO7 = g4 #t T8

High Feed Milling Cutter Disc

WNMUQ7-R050T5-22 WNMUO706020ZER  TS4010  T15 DLJET

AJU it 7] #H F T\

End Mill Tooth Type

CCMT060204 152506 T8  MOLDINO

sauias Jaynd SUIHIA

23S ot




SDMTO095 B #E7IRF T\

End Mill Locking Tooth Type

XNPU105 B E#ETIEMIU

End Mill Straight Shank d

n
=

—
-
o
=
=

g
ﬁn
o
=
m
-
v
o
3
M
wu

L
2l
|
3N S = am ot
31195 19N Sul]]

334 o 82 am ot

SDMT09-35-4T-M16-90 35 17 35 M16 4 90° SDMT09T308 M3.5 T15 WALTER

XNPU10-1616-2T-150-W 16 16 25 150

| |\ SDMTO09 A EB#HII1ERK p XNPUIO-ITI62TA50W 17 16 25

End Mill Cutter XNPU10-2020-3T-150-W 20 20 28 150

XNPU100408SRMM  TS30073960 T8

XNPU100408SRMM  TS30073960 T8

N

XNPU10-25254T-150-W 25 25 43 150

XNPUTOGOSSRMM  TS3073960 T8 WIDIA
XNPU100408SRMM  TS30073960 T8 WIDIA

2
2
3
XNPUI02120-3T-150W 21 20 28 150 3
4
4
5

T15 WALTER

SDMT09-90R050T6-22 50
B
SDMT09-90R080T9-25.4 80
SOMTO990RIOOTIO3175 100 31.75 50

11 WALTER XNPUI1OF EETISBF R

(TS WATER End Mill Locking Tooth Type N

SDMT09 A B #ETIEZ

End Mill Straight Shank _

XNPU10-17-2T-M8-W 17 85 33 XNPU100408SRMM T8 WIDIA

35 XNPU100408SRMM T8 WIDIA
_SDMT09-2525-150~3T-90_ 25 25 32 “150 | 3 ___90" SDMT09T308 | M3.5 | T15 WALTER_ ;gg; | T8 'WIDIA




.
XNPU10A B k7188 - - 1
1 LNGUT1 5 B#TIRF R 4
End Mill Cutter . " =
| End Mill Locking Tooth Type ﬁ =
I' W o
7]z
4 ! = %<
§1]
: A I L
|
- =
a
ERAR R= ERAR® R
Model No. Dimensions (mm) TIE Al TIR®#  RF ﬁﬁﬂﬁ ‘Model No. DimeriTons (mm) _ » : e
-- HAE RE 2B BGIAR sert Screw T TIE Vile) TR RFE EEN
Right hand G B = B e e i ofinsert  Wrench th“’ﬁgh . ﬁﬁiﬁ% Teeth Insert SCrew  yrnpy Pass-through
XNPU10-RO50T7-22W 50 22 40 17 7 XNPU100408SRMM  TS30073960 T8  WIDIA
LNGU11-17-2T-M8W 17 85 33 M8 2 LNGU110408 TS30073960 T8 KENNAMETAL
XNPU10-R063T7-254W 63 254 40 194 7 XNPU100408SRMM  TS30073960 T8  WIDIA
LNGU11-21-3T-M10-W 21 105 34  M10 3 LNGU110408 TS30073960 T8 KENNAMETAL
XNPU10-RO80T8-25.4-W 80 254 50  19.4 8 XNPU100408SRMM  TS30073960 T8  WIDIA
LNGU11-26-4T-M122W 26 125 35 M12 4 LNGU110408 TS30073960 T8 KENNAMETAL
XNPU10-R1007T8-31.75 100 31.75 50 45 8 XNPU100408SRMM  TS30073960 T8  WIDIA
LNGU11-33-5T-M16W 33 17 40 M16 5 LNGU110408 TS30073960 T8 KENNAMETAL
XNPU10-R125T10-38.1 125 381 63 56 10  XNPU1004085RMM  TS30073960 T8  WIDIA
LNGU11 A B #JJEWRI LNGU11 A BT |
End Mill Straight Shank End Milling Cutter ’
- 1 N .
| o
LI /I’/ N /// /
R sl
i ‘ﬁg e AN
=) - ' /8 ‘%
— WeutRasom 2 # a
(30804
(l -
ERAR Rt EaE R
Model No. Dimensions (mm; _ ; jel No. 7] yald 7] it 7]]5'[
(mm) 7% TI5 j_ﬂ#m £ RE EENE Model No. : Dimensions (mm) VAL TJ’ simw = iﬁﬁ
Right hand 78D WEd EE‘?‘* g Teeth Insert g?ﬁn Wrench Passl;ll:h(rll;ugh Right hand 9[)}'& Pﬂﬁ % lﬁﬁﬂﬁ Teeth HhERHE ofinsert  Wrench thrgggh
LNGU11-R 99 N T8  KENNAMETAL
LNGU11-16162T-150W 16 16 25 150 2 LNGU110408  TS30073960 T8  KENNAMETAL il I 1 ! LNGUTI08S TSSeB/a9n0 8
LNGU11-R063T7-254-W 63 254 40 194 7 LNGU110408  TS30073960 T8  KENNAMETAL
LNGU11-17162T-150W 17 16 25 150 2 LNGU110408  TS30073960 T8  KENNAMETAL 7 -
LNGU11-R080T8-25.4-W 80 254 50  19.4 8 LNGU110408  TS30073960 T8  KENNAMETAL
LNGU11-2020-3T-150W 20 20 28 150 3 LNGU110408  TS30073960 T8  KENNAMETAL
LNGU11-R100T8-31.75 100 31.75 50 45 8
LNGU11-2120-3T-150-W 21 20 28 150 3 LNGU110408  TS30073960 T8  KENNAMETAL EHGHULICH0S T isauntadany | TA N Femnss et
LNGU11-R125T10-38.1 125 381 63 56 10 LNGU110408  TS30073960 T8  KENNAMETAL
LNGU11-2525-4T-150W 25 25 43 150 4 LNGU110408  TS30073960 T8  KENNAMETAL
LNGU11-26254T-150W 26 25 43 150 4 LNGU110408  TS30073960 T8  KENNAMETAL
LNGU11-3232-5T-150W 32 32 32 150 5 LNGU110408  TS30073960 T8  KENNAMETAL
LNGU11-3332-5T-150-W 33 32 32 150 5 LNGU110408  TS30073960 T8  KENNAMETAL




[s
LNGU155 B #7148 NI TNGX10 FE#TIEWMR T % @
End Mill Cutter 4 End Mill Straight Shank l 5 ;i
o4 - J)E
1 % 3 |

' ma R -

bl o L n% Tk TIEEE R BETIR

Right hand 7D i Bheck 2 Teeth Insert SSTW wirench Pass;:xugh

TNGX10-1716-120-1T 17 16 33 120 1 TNGX 100404SR-M  TS25073456 T8 PRAMET

%&"éﬁ? D1me}r?s|_-o|-ns (mm) ¥ TIE TIF Bk w"F EEDR TNGX10-1616-130-2T 16 16 25 120 2  TNGX100404SR-M  TS2508 T8 PRAMET
Right hand e [l Dol Insert ofinsert  Wrench through TNGX10-1716-130-2T 17 16 25 120 2  TNGX100404SR-M  TS2508 T8  PRAMET
LNGU15-R040T4-16 40 16 40 17 4 LNGU15T612 TS4010 T15  KENNAMETAL TNGX10-2020-130-3T 20 20 28 130 3 TNGX 100404SR-M TS2508 T8 PRAMET
LNGU15-R050T5-22 50 22 40 105 5 LNGU15T612 TS4010 T15 KENNAMETAL TNGX10-2120-130-3T 21 20 28 130 3 TNGX 100404SR-M TS2508 T8 PRAMET
LNGU15-R063T6-22 63 22 40 105 6 LNGU15T612 TS4010 T15  KENNAMETAL TNGX10-2525-130-4T 25 25 33 130 4 TNGX100404SR-M  TS2508 T8 PRAMET
LNGU15-R080T7-27 80 27 50 38 7 LNGU15T612 TS4010 T15  KENNAMETAL TNGX10-2625-130-4T 26 25 33 130 4 TNGX100404SR-M  TS2508 T8  PRAMET
LNGU15-R100T8-32 100 32 50 45 8 LNGU15T612 TS4010 T15  KENNAMETAL TNGX10-3232-130-5T 32 32 42 130 5  TNGX100404SR-M  TS2508 T8 PRAMET
LNGU15-R125T9-40 125 40 63 56 9 LNGU15T612 TS4010 T15  KENNAMETAL TNGX10-3532-130-5T 35 32 42 130 5 TNGX 100404SR-M TS2508 T8 PRAMET
LNGU15-R160T12-40 160 40 63 56 12 TNGX10-4032-130-5T 40 32 42 130 5 TNGX 100404SR-M TS2508 T8 PRAMET |
TNGX105 B#7IIRF R
TNGX10 A ES T mEmk ] w End Mill Locking Tooth Type
End Mill Cutter
e
e
ol Bimerisions (mm)
° e TIE TR RE EEIE
o Ml o, | m 1 -aath : Screw . Pass-through
Right hand 7IED W|Ed 2EL B Teeth Insert ofinsert ~ Wrench "eS TN
TNGX10-17-1T-M8 17 85 26 M8 1 TNGX100404SR-M TS25073456 T8  PRAMET
R R _ I TNGX10-16-2T-M8 16 85 25 M8 2  TNGX100404SR-M  TS2508 T8  PRAMET
Model No. Dimensions (mm) AL bilan TIR®s RF  EEDR
— S Pass- TNGX10-17-2T-M8 17 85 25 M8 2 TNGX100404SR-M  TS2508 T8  PRAMET
e NE RE 2R BHEIAE  Teeth Insert Clew.  Wrench throu
Right hand : of Insert bl dgh .
oy SR M bla TNGX10-20-3T-M10 20 105 30 MI10 3 TNGX100404SR-M  TS2508 T8  PRAMET
TNGX10-R050T7-22 5 2 395 17 v INGHINGOMSRM IS IR RRAMET TNGX10-21-3T-M10 21 105 30  M10 3  TNGX100404SRM  TS2508 T8  PRAMET
TNGX10-R063T9-25.4 63 254 395 194 9  TNGX100404SR-M  TS2508 T8  PRAMET TNGX10-254T-M12 25 125 35 M12 4 TNGX100404SR-M  TS2508 T8 PRAMET
TNGX10-R080T10-25.4 80 254 495 38 10 TNGX100404SR-M  TS2508 T8  PRAMET BTN 5 W95 8 W3 4  THGiDOAAERM  TE5EGE %E  BRARIE
TNGX10-R100T11-31.75 100 31.75 495 45 11 TNGX100404SR-M  TS2508 T8  PRAMET TNGX10-32-5T-M16 32 17 40 M6 5  TNGX100404SRM  TS2508 78  PRAMET

TNGX10-33-5T-M16-W 33 17 40 M16 5 TNGX 100404SR-M TS2508 T8 PRAMET




% ADMX075 B TIEF ADMX1175 B &£ TJ8RF =\

) SUl|liN puE

End Mill Locking Tooth Type E
\ Jo A c
= I R VW < J)& |
il LTI !
J 5 *
L =1 2
Emfua e
ERAR R~ _ » el No. Dimensions (mm : . % —
Madel No. Dimensions (mm) T Pi)at TIF Bk wFE EEA Uil -4 VAl )JSHC- lﬁ,ﬁ wF Piﬁﬁﬂf .
: - : Serow Pass- Right hand JI&D B&d 2EL IR Teeth Insert of Insert Wrench assl;laglo g
Right hand 91;& mdﬁ glza Rﬁa{,ﬁ Teeth Insert 5w Wrench t’;‘,ﬁ‘;ﬁgh ht han : i c
16.97- ADMX11T308SR-M  TS2506 T8 PRAMET
ADMX07-11-2T-M5 1 55 20 M5 2 ADMX070204SR-M  TS2004 T6  PRAMET ADMX11-16-2T-M8 16 85 2% M8 2
ADMX07-13-2T-M6 13 65 20 M6 2 ADMX070204SR-M  TS2004 T6 PRAMET ADMX11-17-2T-M8 7 85 24 M8 20 [ARMEITTH0ASRNMS | T2206 I8 FRAMET
20.3T- ADMX11T3085R-M  TS2506 T8 PRAMET
ADMX07-13-3T-M6 13 65 20 M6 3 ADMX070204SR-M  TS2004  T6  PRAMET ADMXI20:3TMA0: 20 105 B0 Mia 2
T R P i e el s = S ADMX11-21-3T-M10 21 105 30  M10 3 ADMX11T308SR-M  TS2506 T8 PRAMET
95.4T. ADMX11T3085R-M  TS2506 T8 PRAMET
ADMX07-21-5T-M10 21 105 30  M10 5  ADMXO070204SR-M  TS2004 T6 PRAMET AOMAILESSEMIZ. 25 1ds 4% MR 4
ADMX11-32-5T-M16 32 17 40  M16 5  ADMX11T308SR-M  TS2506 T8 PRAMET
ADMXOTHF EB#7TJEWMT ADMX11-33-5T-M16 33 17 40 M16 5  ADMXI1T308SRM  TS2506 T8  PRAMET
End Mill Straight Shank
Gl . WNHX045 B #7188 F 0
N ——— ! End Mill Locking Tooth Type
AL 3
el No. Dimensions (mm : : s
i T T TS RE EETR
) : S o 1 h
Right hand 718D fi@d BNeck 25| Teeth Insert ofineert | Wrench Pesqifioue
ADMX07-0808-100-1T 8 8 100 1 ADMX070204SR-M  TS2004 T6 PRAMET E;I'j'nfl't%m R~
Model No. Dimensions (mm) TR 4 3
ADMX07-0908-100-1T 9 8 14 100 1  ADMX070204SR-M  TS2004 T6  PRAMET L Vila) RS wRFEERITA
ight hand TIHED TRd 2EL HRETLE Teeth Insert o?l:ni?:rt Wrench Pass;h(r’ough
ADMX07-1010-100-2T 10 10 100 2 ADMX070204SR-M TS2004 T6 PRAMET Right han M Gl
ADMX07-1110-100-2T 11 10 17 100 2  ADMXO70204SR-M  TS2004 T6 PRAMET WNHX04-16-M08-2T 16 85 26 M8 2 WNHXO040305ER  TS25073456 T8  PRAMET
ADMX07-1212-100-3T 12 12 100 3 ADMXO070204SR-M  TS2004 T6 PRAMET WNHX04-17-M08-2T 17 85 26 M8 2 WNHX040305ER  TS25073456 T8  PRAMET
ADMX07-1312-100-3T 13 12 20 100 3 ADMX070204SR-M TS2004 T6 PRAMET WNHX04-20-M10-3T 20 105 30 M10 3 WNHX040305ER  TS25073456 T8 PRAMET
ADMX07-1616-100-4T 16 16 100 4  ADMXO70204SR-M  TS2004 16 PRAMET WNHX04-21-M10-3T 21 105 30 M10 3 WNHX040305ER  TS25073456 T8  PRAMET
ADMX07-1716-100-4T 17 16 20 100 4  ADMX070204SR-M  TS2004 T6 PRAMET WNHX04-25-M12-4T 25 125 33 M12 4  WNHX040305ER  TS25073456 T8  PRAMET
ADMX07-2020-150-5T 20 20 150 5  ADMX070204SR-M TS2004 T6 PRAMET WNHX04-26-M12-4T 26 125 33 M12 4 WNHX040305ER ~ TS25073456 T8 PRAMET
ADMX07-2120-150-5T 21 20 20 150 5  ADMXO70204SR-M  TS2004 T6 PRAMET WNHX04-32-M16-6T 32 17 40 M16 6 WNHX040305ER ~ TS25073456 T8  PRAMET
ADMX07-2525-150-6T 25 25 150 6  ADMXOT0204SR-M  TS2004 T6 PRAMET WNHX04-33-M16-6T 33 17 40  M16 6  WNHX040305ER  TS25073456 T8  PRAMET
ADMX07-2625-150-6T 26 25 26 150 6  ADMXO70204SR-M  TS2004 T6 PRAMET WNHX04-35-M16-6T 35 17 43 M16 6  WNHXO040305ER  TS25073456 T8  PRAMET




MPHTO4 5 Bt TISHF X AP11 5B #TIERI

End Mill Straight Shank

| A
A ——————— e — ] o
L)
i | \

)y SUIN P

B3 S g am ot

7] A Y .
i % : ' L
| 2Ts — ' T . =
¢ Bl ERAR R~ .
yJ Model No. Dimensions (mm) AL Va)ss TIRE#  |RF EETIA
O 4o . Screw 5
Ea U R~ Right hand TIED WEd $Neck 2| s Insest of Insert wrehaly Passb'fhcrioug_h
Model No. Dimensions (mm) TIEk Vi TIE 1854 wE  EBEE L1 aHe
: : s Pass- AP11-09510-100-1T 95 10 20 100 1 APMT1135 TS2506 T8
Right hand TIED BiEd 25| WHILE Teeth Insert ofinsert  Wrench assbf:dn:ugh
' M AP11-1010-100-1T 10 10 20 100 1 APMT1135 TS2506 T8
MPHT04-10-2T-M5 10 55 20 M5 2 MPHT040205ZER  TS1804 T6  MOLDINO AP11-11512-100-1T 115 12 20 100 1 APMT1135 752506 T8
MPHT04-11-2T-M5 11 65 20 M5 2 MPHT040205ZER  TS1804 T6  MOLDINO AP11-1212-1001T 12 12 20 100 1 APMT1135 152506 T8
MPHTO4-12-37M6 12 65 20 M6 3  MPHTO402052ER  TS1804  T6  MOLDINO AP11-1312:2001T 13 12 20 200 1 APMINISE Teaae
AP11-1516-120-2T 15 16 20 120 2 APMT1135 TS2506 T8
MPHT04-13-2T-M6 13 65 20 M5 2 MPHT040205ZER  TS1804 T6  MOLDINO
AP11-1516-150-2T 15 16 20 150 2 APMT1135 TS2506 T8
13.3T- MPHT040205ZER  TS1804 T MOLDIN
MEHTO33TMG 18 65 20 M6 4 0205 >18 6  MOLDINO AP11-1616-1502T 16 16 20 150 2 APMT1135  TS2506 T8
MPHT04-16-4T-M8 16 85 25 M8 4 MPHT040205ZER  TS1804 T6  MOLDINO AP11-1716-2002T 17 16 20 200 2 APMT1135 TS2506 T8
MPHT04-17-4T-M8 17 85 25 M8 4 MPHT040205ZER  TS1804 T6  MOLDINO AP11-1820-120-2T 18 20 20 150 2 APMT1135 T$2506 T8 MITSUBISHI
MPHT04-20-5T-M10 20 105 30 M10 5  MPHTO40205ZER  TS1804 T6  MOLDINO AP11-1920-1202T 19 20 25 120 2 APMTTI35  TS2506 T8 SUMITOMO
-1920- 25 APMT1135 TS2506 T8
MPHT04-21-5T-M10 21 105 30  M10 5 MPHT040205ZER  TS1804 T6  MOLDINO RSP R0ET) TN 04D TR0 2 HBLREHD
AP11-2020-120-2T 20 20 25 120 2 APMT1135 TS2506 T8
MPHT04-25-6T-M12 25 125 30  M12 6 MPHT040205ZER  TS1804 T6  MOLDINO
AP11-2020-150-2T 20 20 25 150 2 APMT1135 TS2506 T8
MPHT04-26-6T-M12 26 125 30  M12 6 MPHT040205ZER  TS1804 T6  MOLDINO SESTOAERET 9 BB B Gl B P — 4
MPHT04-32-8T-M16 32 17 30 M16 8 MPHT040205ZER TS1804 T6 MOLDINO AP11-2120-200-3T 21 20 25 200 3 APMT1135 TS2506 T8
AP11-2525-150-3T 25 25 30 150 3 APMT1135 TS2506 T8
AP11-1615-2002T 16 15 35 200 2 APMT1135 TS2506 T8
AP1 GHE ﬁ?ﬁﬂ E*ﬁit i AP11-1616-2002T 16 16 35 200 2 APMT1135 TS2506 T8
End Mill Straight Shank AP11-2019-2003T 20 19 35 200 3 APMT1135 TS2506 T8
LI
‘—T AP11-2020-2003T 20 20 35 200 3 APMT1135 TS2506 T8

1 B AP115 BT F

End Mill Locking Tooth Type

AR R~ _ .

Model No. Dimensions (mm) TIE i)y TIR@B%%  wRF BRI A

_ Neck £t Teeth Insert Screw Wrench Pass-through

Righthand ~ 7JfD ##1&d Eu %_E R’;%,,a.,k of Insert i T
AP16-2525-150-2T 25 25 35 150 Ak 2 APMT1604  TS25073456 T8 M‘El No. Dimensions (mm) 7&K Ul TIR 8854 wF EETIA

: _ : N Screw Pass-through

AP16-3232-150-3T 32 32 45 150 FHhpdk 2 APMT1604  TS25073456 T8  \iTsuBISHI Right hand ”bﬁ Wd@ %LE R&&&@ Teeth I of Insert Wrench blade
AP16-3532-150-3T 35 32 45 150 &k 3 APMT1604  TS25073456 T8  SUMITOMO AP11-17-2T-M8 17 85 25 M8 2 APMT1135 TS2506 T8 MITSUBISHI
APIoAOD 50T A0 (32 |45 [150| [tk |3 [ ARMTIG0N | [TR20072A50 TR MBERIES AP1121-3TM10 21 105 30  M10 3  APMTI135  TS2506 T8  SUMITOMO
AP16-5032-150-4T 50 32 45 150 #hiuk 4 APMTI604  TS25073456 T8 AP11-26-2T-M12 26 125 M12 2 APMT1135  TS25073456 T8  MOLDINO




75 APKTH B # 71 ERT RTEEEE ]2

- B End Mill Straight Shank Boring Mill Arbor .

ﬁﬂ 9 , _

| 3| ] NS
B, Sk

ulinsuieg

[=}
o

|

BN S

anas Sumng

w

Model No. Dimensions (mm) TI# i)y TIF 2%k w"F BEIR
SRR R+ : _ __ : - Right hand Til)ﬁ ﬁaﬁ ﬁ%ffck g Teeth Insert S Wrench t?ﬁgﬁ
Model No. Dimensions (mm) T TIE TR RF EBEDA
. —_ - Pass- -1010-150- ?
o T8 HEE TNeck L . . Teeth inssit SErW. wiench | theuen RT07-1010-150-2T 10 10 20 150 2 RT070204 R-81 TS2005 T6 PRAMET
Right hand | | RNSCh g |(Tent > of Insert N Thlade
' : RT07-1212-150-2T 12 12 20 150 2 RT070204 R-81 TS2005 T6 PRAMET
APKT10-1216-100-1T 12 16 14 100 1 APKT1003PDR TS3007 T9 ISCAR
RT07-1312-150-2T 13 12 20 150 2 RT070204 R-81 TS2005 T6 PRAMET
APKT10-1616-1202T 16 16 25 120 2 APKT1003PDR TS3007 T9 ISCAR R0 61507 17 16 26 150 5 L T o Sy
APKT10-2020-150-2T 20 20 25 150 2 APKT1003PDR TS3007 T9 ISCAR RT10-2120-150-3T 21 20 30 150 3 RT070204 R-81 TS2506 T8 PRAMET
APKT10-2525-150-3T 25 25 25 150 3 APKT1003PDR TS3007 T9 ISCAR
APKT16-2525-160-2T 25 25 29 160 2 APKT1604PDR  TS4009A  T15 ISCAR
APKT16-3232-160-3T 32 32 29 160 3 APKT1604PDR ~ TS4009A  T15 ISCAR
|
RTEE#ETIIRF 0
Boring and Milling Locking Type L
CNHOS/ Im#E7J#HF = =
Square Shoulder Milling Cutter Lock i : e ‘
_[ | | | in l
Tooth Type al . | (1 5]
- N LT :
J - I'f;ﬁ ! I
ERRH R : :
Model No. Dimensions (mm) 718 5 TIF@®H WwFE EBEN
_ . N il e Screw .+ Pass-through
Righthand 734D BfEd 2L WAILE Teet Insert ofinsert VM " hiade
- 5 4 RTO7-10-2T-M5 10 55 18 M5 2 RT070204 R-81 TS2005 T6 PRAMET
Model No. - Dimensions(mm) % 71) TIR & ar feaidia RTO7-11-2T.M5 11 55 18 M5 2  RTO70204R-81  TS2005  T6  PRAMET
Right Hand TR BE 2R BMIR Teeth Insert e Wrench throu
} D d L M blade RTO7-13-2T-M6 13 65 20 M6 2 RT070204 R-81 TS2005 T6 PRAMET
CNHX05-11-2T-M5 11 55 20 M5 2 CNHX050205ER-WM TS2005 T6 PRAMET RT07-17-3T-M8 17 85 23 M8 3 RT070204 R-81 TS2005 T6 PRAMET
CNHX05-12-2T-M6 1265 20 M6 2 CNHXO050205ER-WM T52005 T6 PRAMET RTO7-21-4T-M10 21 105 30  MI10 4 RT070204 R-81 TS2005 T6 PRAMET
CNHX05-13-2T-M6 13 65 20 M6 2 CNHX050205ER-WM TS2005 T6 PRAMET RT10-17-2T-M8 17 85 30 M8 2 RT070204 R-81 TS2506 T8 PRAMET
CNHX05-13-3T-M6 13 65 20 M6 3 CNHX050205ER-WM TS2005 T6 PRAMET RT10-21-3T-M10 21 105 30  M10 3 RT070204 R-81 TS2506 T8 PRAMET
CNHX05-16-3T-M8 16 85 25 M8 3 CNHX050205ER-WM TS2005 T6 PRAMET RT10-26-4T-M12 26 125 35  M12 4 RT070204 R-81 TS2506 T8 PRAMET

CNHX05-17-3T-M8 17 850 125 M8 3 CNHX050205ER-WM TS2005 T6 PRAMET RT10-35-5T-M16 35 17 43 M16 <) RT070204 R-81 TS2506 T8 PRAMET




2 ¥ Face Milling Cutter

2 |

« ay
ERH R~
Model No. Dimensions (mm) 8 AaE Vale) ﬂéﬁﬁ wF Pgﬁaih
Right hand NED R4 REL Teeth Angle Insert of Incer: Wrench blade
SNMU12-45R063T6-25.4 63 25.4 50 6 45° SNMU1206ANEN TS4010C T15 WALTER
SNMU12-45R080T6-25.4 80 25.4 50 6 45° SNMU1206ANEN TS4010C T15 WALTER
SNMU12-45R100T8-31.75 100 31.75 50 8 45° SNMU1206ANEN TS4010C T15 WALTER
SNMU12-88R063T6-25.4 63 254 50 6 88° SNMU1206ANEN  TS4010C  T15 WALTER
SNMU12-88R080T8-25.4 80 254 50 8 88° SNMU1206ANEN  TS4010C T15 WALTER
SNMU12-88R100T10-31.75 100 31.75 50 10 88° SNMU1206ANEN TS4010C T15 WALTER
SNMU12-88R125T10-40 125 40 60 10 88° SNMU1206ANEN  TS4010C T15 WALTER
SNMU12-88R160T10-40 160 40 65 10 88° SNMU1206ANEN  TS4010C T15 WALTER
=i
O0E-FEENEER]
90°-Disposable Face Milling Cutter
EmR R~
Moddl Mo, Dimensions (mm) T balas wRFE TIRREK BETR
Right hand HMED MmfEd 2EL WEIUE Teeth  nset  wrench  gerew  Pasgiiough
AP16-R050T4-22 50 22 55 17 4 APMT1604 T15 TS4009A
MITSUBISHI
63 254 50 20 5 APMT1604 T15 TS4009A
AP16-R063T5-25.4 : SUMITOMO
= : APMT1604 T15 TS4009A
AP16-R080T6-25.4 80 254 50 36 6 MOLDINO
AP16-R100T7-31.75 100 31.75 50 45 7 APMT1604 T15 TS4009A

0E-FEFEINEEXT]

90°-Disposable Face Milling Cutter

EmAER
Model No.

TP90-R063T3-25.4
TP90-R080T4-25.4

R~

Dimensions (mm)

63 254 55 20
80 254 55 37

TP90-R100T5-31.75 100 31.75 58 45

TP90-R125T6-38.1

1251 3811 550 | | 51

NE® B BRRHK

3
4
5
6

VAl
5 of
Right hand ﬂh@ qu@ %LE %%M Teeth cutter parallel cutti-rre;varallel i

TIRg# wRFE ERIA

Pass-
Screw Wrench
of Insert rene ”,','.‘;ﬁ%"

TP90-2R-2Q TP-A4008 TPMN220412 TP-N8018 5.075f#RF MITSUBISHI
TP90-2R-2Q TP-A4008 TPMN220412 TP-N8018 5.075#RF MITSUBISHI
TP90-2R-2Q TP-A4008 TPMN220412 TP-N8018 5.075f&#&k3F MITSUBISHI
TP90-2R-2Q TP-A4008 TPMN220412 TP-N8018 5.075f4&RF MITSUBISHI

ASEE-fREXmKT]

45°-Disposable Face Milling Cutter

ERR

Model No.
Right hand
ASX445-R050T3-22

ASX445-R050T4-22
ASX445-1050T4-22
ASX445-R050T3-25.4
ASX445-R050T4-25.4
ASX445-R063T4-22
ASX445-R063T5-22
ASX445-R063T4-25.4
ASX445-R063T5-25.4
ASX445-R080T4-25.4
ASX445-R080T6-25.4
ASX445-R080T4-27
ASX445-R080T6-27
ASX445-R100T5-31.75
ASX445-R100T6-31.75A1
ASX445-R100T7-31.75
ASX445-R100T5-32
ASX445-R100T7-32
ASX445-R125T6-38.1
ASX445-R125T8-38.1
ASX445-R125T6-40
ASX445-R125T8-40
ASX445-R160T8-38.1

SE45-R063T5-25.4

g
D
50

50

50

100
100
100
100
100
125
125
125
125
160

63

R~

Dimensions (mm)

A

K B Be

K kB K2 R

254

254

254

254

254

254

27

27

31.75

31.75

31.75

32

381

38.1

40

381

254

g BR

B IR

Screw of

QL-E %%M Teeth Cutterparallel  Cutte parallel

50

105

10.5

105

125

125

10.5

105

3 ASX45-2R2Q
4 ASX452R2Q
4 ASX45-2R2Q
3 ASX452R2Q
4 ASX45-2R2Q
4 ASX45-2R2Q
5  ASX45-2R-2Q
4 ASX45-2R2Q
5  ASX45-2R-2Q
4 ASX45-2R-2Q
6 ASX452R2Q
4 ASX45-2R-2Q
6  ASX452R-2Q
5  ASX45-2R2Q
6 ASX452R2Q
7 ASX45-2R2Q
5 ASX452R2Q
7 ASX452R2Q
6 ASX452R2Q
8  ASX452R-2Q
6 ASX45-2R-2Q
8  ASX452R2Q
5 ASX45-2R-2Q
5  ASX45-2R2Q

XN-M5-0.5*7.5
XN-M5-0.5*7.5
XN-M5-0.5*7.5
XN-M5-0.5*7.5
XN-M5-0.5*7.5
XN-M5-0.5*7.5
XN-M5-0.5*7.5
XN-M5-0.5*7.5
XN-M5-0.5*7.5
XN-M5-0.5*7.5
XN-M5-0.5*7.5
XN-M5-0.5*7.5
XN-M5-0.5*7.5
XN-M5-0.5*7.5
XN-M5-0.5*7.5
XN-M5-0.5*7.5
XN-M5-0.5*7.5
XN-M5-0.5*7.5
XN-M5-0.5*7.5
XN-M5-0.5*7.5
XN-M5-0.5*7.5
XN-M5-0.5*7.5
XN-M5-0.5*7.5

XN-M5-0.5*7.5

D

balay TR RF iﬁpﬁﬂﬁ'
SEMETTMGSN  TS3512  Liaes  MITSUBISH
SIMEISTHGIN  TS3512  Lige>.  MITSUBISH
SEME13T3AGSN  TS3512 Ia: ;+%g§ gquJTfj H’%Ia gl
SMETIGN  TS3512 Lo MITSuBIeH!
SMESTHGN  TS3512  Laos  WRUBeH
SEMEISTMGIN  TS3512 g MITSUBISH
sMETHGN  TS3512  Laos  HeUBeH
SEMEISTMGIN  TS3512 g MITSUBISH
SEMET3T3AGSN  TS3512 Eg&; s
SEMEITMGSN  TS3512  Laas  MITSUBISH
SEME13T3AGSN  TS3512 ;:g%gz ?&Tﬁ H’?)Ilagl
sMEigTHGN  TS3512  Laos  WeUBeH
SIMEISTIGIN  TS3512  Liae>  MITSUBISH
SMETIGN  TS3512  Ligies  MISUBIeH
SIMEISTIGIN  TS3512  Liae>.  MITSUBISH
SEMENSTHGSN  TS3512  Laws  MUISUBISH!
SEME13T3AGSN  TS3512 Egé; ?LIJThi Hglagl
SEMEISTMGN  TS3512  Lige>  MITSUBISH
SvETHGN TS Lo'35  MITSUBISH
SEME13T3AGSN ~ TS3512 Eg %5; E{IJT[\? H%'ﬁg'
SEVMETTMGSN  TS3512  Liaes  MITSUBISH
SEME13T3AGSN  TS3512 1.:: gf%s; ;‘3;3 .‘%%'ﬁ 3'
SEME13T3AGSN  TS3512 2;%3-: ?LIJTIS .‘%’3'&3'
S g e

g L




45 ERIVE BT

Indexable Face Milling Cutter Series

115 8AJIRRTIE

2

2 -
S 8-Angle Blade Milling Cutter Disc TS
0 m
Tl 3@
rq_‘: m
=[] M| =
% A (Right Hand) % fi
EA ERRR R | ~ %>
ylj EmsR R~F Model No. Dimensions (mm) 5'3& i) ylj r~
Right Hand 78 WE 2R BMIE Teeth Angle insert it Wrench 0 8 L
b d L M SEKN1203-R080T5-25.4 80 25.4 50 5 SEKN1203
ONMTO05-R050T5-22 5 22 40 17 5 45° ONMU050408 TS4009A T15 SEKN1203-R100T5-31.75 100 3175 55 5 SEKN1203
ONMTO05-R063T4-25.4 63 254 45 194 4 45° ONMUO050408 TS4009A T15
SEKN1203-R12576-38.1 125 38.1 60 6 SEKN1203
ONMTO05-R063T5-254 63 254 45 194 5 45 ONMU050408 TS4009A T15 SR o s e 2 T
ONMUO5-40R063T5-25.4 63 254 45 194 5 40° ONMUOG6T6AMM TS4009A T15

SEKN1203-R200T10-47.625 200 47,625 65 10 SEKN1203

ONMX06-R063T5-25.4 63 254 45 194 5 45 ONMX06T605 TS5011 T20 SEKN1203-R250T12-47.625 250 47625 65 12 SEKN1203

SEKN1203-R300T14-47.625 300 47.625 65 14 SEKN1203

SEKN1203-R356T16-47.625 356 47,625 65 16 SEKN1203

4 5 fg, 1:% ﬁ :_Et E ﬁlﬁ 7] B ;Jﬁ E J_:t SEKN1203-R408T18-47.625 408 47.625 70 18 SEKN1203

Indexable Face Milling Cutter Series-Reduced Weight

M (Left Hand)
n— @ -

%:m? nimnjs?b?s (mm) Bal ;¢ bl E:dﬁ? Dimen§o_F1'; (mm) Bal ;i 7R

Right Hand ﬂbﬁ P! dﬁ. QI_E Teeth Insert Right Hand ﬁl‘bﬁ wdﬁ %_E: Teeth Insert
SEKN1203-R063T4-22 63 22 50 4 SEKN1203 SEKN1203-R080T5-25.4-L 80 254 50 5 SEKN1203
SEKN1203-R063T4-25.4 63 254 50 4 SEKN1203 SEKN1203-R100T5-31.75-L 100 3175 55 5 SEKN1203
SEKN1203-R080T5-25.4 80 25.4 50 5 SEKN1203 SEKN1203-R125T6-38.1-L 125 381 60 6 SEKN1203
SEKN1203-R100T5-31.75 100 31.75 55 6 SEKN1203 SEKN1203-R160T8-50.8-L 160 50.8 60 8 SEKN1203
SEKN1203-R125T6-38.1 125 38.1 60 7 SEKN1203 SEKN1203-R200T10-47.625-L 200 47.625 65 10 SEKN1203
SEKN1203-R16078-50.8 160 50.8 60 8 SEKN1203 SEKN1203-R250T12-47.625-L 250 47.625 65 12 SEKN1203
SEKN1203-R200T10-47.625 200 47.625 60 10 SEKN1203 SEKN1203-R300T14-47.625-L 300 41.625 65 14 SEKN1203
SEKN1203-R250T12-47.625 250 47.625 60 12 SEKN1203 SEKN1203-R356T16-47.625-L 356 47.625 65 16 SEKN1203
SEKN1203-R300T14-47.625 300 47.625 60 14 SEKN1203 SEKN1203-R408T18-47.625-L 408 47.625 70 18 SEKN1203



] e Ll
= 8l SEMT13T3 ElA7] . RN-5REEiRiREt T4 3
3 Chamfering Knife i High Feed End Mills N [T
Q.
= I 7]z
= T - ﬁ :':;-
ERREHR R+ : : ; 7z
7] Model No. Dimensions (mm) T8 palay TR®%% IRFE ﬁ?ﬂﬂ' 7 %
it Btk TR BR ER AE  Teeth Insert SCW  \rench  through S A R _ o
% IS b 'd L Angle gk e i mersions (o) K T TARM RE mEns )
5 SEMT1620-100L 6 20 100 45 1 SEMTI3T3AGSH  TS3508  T15  SUMITOMO Right hand 78D WiEd 2L B Teeth Insert ofrowrt  Wrench Pasgthiough
SEMT3520-120L 35 |20 128 45 2 SEMT13T3AGSH  TS3512 T15  SUMITOMO RN-5R-R050T5-22 50 22 40 17 5  RNPJ10T3MOSMH  TS35085560  T15 WIDIA
RN-5R-R050T5-25.4 50 254 40 19.4 5  RNPJIOT3MOSMH TS35085560  T15 WIDIA
RN-5R-R063T6-254 63 254 50  19.4 6 RNPJIOT3MOSMH TS35085560  T15 WIDIA

TCEX A7)
Chamfering Knife B RN-5RE= #4878 F =

High Feed Milling Cutter Locking Type

E—

¥l

AR R~ _ - -
Model No. Dimensions (mm) T8 ba)al wRF TIF iRk
o .. — 1 - oaEm . - Screw
Right hand 7Ji8D #Rigd 2RL 8L Angle Teeth Insert Wrench of Insert ES AL R .
' ] -Mondll No. Dimensions (mm) UILE ¢ Vil wRFE  TIRR& BETIA
TCEX-2020-130L 20 20 130 54 90 1 TCEX16T308G T15 TS4009A - o TR e ass theouah
Right hand TED EfEd £RL Teeth Insert Wrench i cert blade
TCEX-2020-060-120L 20 20 120 O 60 1 TCEX16T308G T15 TS4009A ! kil ade
R R RNPJIOT3MOSMH  T15  TS35085560  WIDIA
TCEX-2020-100-150L 20 20 150 70 100 1 TCEX16T308G T15 TS4009A RN-5R-25-3T-M12 5 125 32 M2 3
RN-5R-32-4T-M16 32 17 40 M16 4  RNPJ1OT3MOSMH  T15 = TS35085560 WIDIA
RN-5R-35-5T-M16 3% 17 40  M16 5 RNPJIOT3MOSMH T15  TS35085560  WIDIA
THT]
T Knife .
-2 Ll d
T RN-8RE AR 125 7)48
. = High Feed End Mills
Il
B RY _— = T T
Model No. Dimensions (mm) ﬂﬁ_ 73’* ﬁ¥ n:m ;E%zs])#
Right hand nE0 mEd 2EL mL eh e WIeneh  ofinsert  fjough
CT0813-D38-S32-105 38 32 105 13 4 CPMT080204 T8  TS2506 MOLDINO
CT0608-D19-525-105 19 2% 105 8 2 CCMT060204 T8  TS2506 MOLDINO ESs Rt . : "
Mc:‘.l'el No. Dimensions (mm) T8 yalss ﬁ%a TIRRE SBEE
CT0610-D20-S25-108 20 25 10 D CCMT060204 T8  TS2506 MOLDINO ) - st
1 Right hand SHED wiEd 2EL BEHUE Teeth Insert Wrench ~ Serew  Pasgfhrough
CT0610-D24-525-108 24 25 108 10 2 CCMT060204 T8  TS2506 MOLDINO
RN-8R-RO66T5-254 66 254 50 194 5 RNPJIGOSMOSMH  T15  TS5011 WIDIA
CT0612-D50-S25-150 50 25 150 12 4 CCMT060204 T8  TS2506 MOLDINO



| L] 7]z
AN == |
oE | RN

RP-4REI7]ER T ERT

Round Edge Milling Cutter With Straight Shank

Hasu| punoy

EmAak R~ EmR R~
Model No. Dimensions (mm)  7J#  JIR TEWE BiR BRSM RE EEIN Model No. DTS o T Y TIK TR RFE BEIN
o A " = 2F ik Teeth Insert SIEW Cla Scre Wrench Fass. P =1 - _ o Pass-
Right hand D d R L AEM of Insert amp of Clamp hbnl:;u eh Right hand _;%ﬁ ﬁd@ ELN‘f(:k 2| Teeth Insert mﬁ Wrench thb,igﬁgh
RO-GR:0s0T422 50 2 68 0 Af 4 KOMIBOSMOIN 7540098 ME35-143 Is9011 M3  MOLDING RP-4R-1615-2002T 16 15 50 200 2  RPMTOS8T2MOE  TS2506A T8  MITSUBISHI
RD-8R-063T4-254 63 254 8 50 20 4 RDMT1604MOTN TS5011 MC35-143 TS5011 T20 MOLDINO
RP-4R-1616-200-2T 16 16 50 200 2 RPMTOST2MOE  TS2506A T8  MITSUBISHI
RD-8R-066T4-254 66 254 8 50 20 4 RDMT1604MOTN TS5011 MC35-143 TS5011  T20 MOLDINO
RD-8R-080T5254 80 254 8 55 20 5  RDMT1604MOTN TS5011 MC35-143 TS5011  T20 MOLDINO RP-4R-2019-200-2T 20 19 50 200 2 RPMTOST2MOE  TS2506A T8  MITSUBISHI
RD-8R-100T5-31.75 100 3175 8 60 45 5 RDMT1604MOTN TS5011 MC35-143 TS5011  T20 MOLDINO RP-4R-2020-200-2T 20 20 50 200 2 RPMTOST2MOE  TS2506A T8  MITSUBISHI
RD-8R-116T6-38.1 116 381 8 60 51 6 RDMT1604MOTN TS5011 MC35-143 TS5011  T20 MOLDINO
——
RDEI 71 T] EiRz RDOSEiELATETITHF U
Round Edge Milling Cutter With Straight Shank High Feed Milling Cutter Locking Tooth Type
:’_‘.T L =
v
— TN qQn
b I
sl =
ESRE : ‘.J ‘ '
Model No. Dimensions (mm) T TI5 TR Bk RF ='§E|;_;E?JH'
- : - S5~
- HE AR B 2K Teeth Insert SCRW. - aamn Wrench  poity
Right hand D d R L1 L of Insert poug!
RD-5R-2020-150-2T 20 20 5 35 150 2 RDMT10T3MOTN TS4009B M5-0.8*8 T15 MOLDINO ERfte R+ _ :
Model No. Dimensions (mm) ¥ pal TR 844 wRE BETR
RD-5R-2525-150-2T 25 25 5 35 150 2 RDMT10T3MOTN TS4009B M5-0.8*8 T15 MOLDINO : : e PacE
Right Hand NE BHWE 2R mﬁ' Teeth Insert of,n‘;‘;",t Wrench 'throl.cxlgh
RD-5R-2525-150-3T 25 25 5 35 150 3 RDMTI0T3MOTN TS4009B M5-0.8*8 T15 MOLDINO D d L M blade
RD-5R-3025-150-3T 30 25 5 35 150 3 RDMT10T3MOTN TS4009B M5-0.8*8 T15  MOLDINO RD05-13-3T-M6 13 65 20 M6 6 RDMWO0501 TS2004 T6 PRAMET
RD-5R-3025-150-4T 30 25 5 35 150 4 RDMTI10T3MOTN TS4009B M5-0.8*8 T15 MOLDINO RDO5-17-4T-M8 17 M8 6 RDMWO0501 TS2004 T6 PRAMET
RD-6R-2525-150-2T 25 25 6 35 150 2 RDMT1204MOTN TS4009A M5-0.8*8 T15 MOLDINO
RD-6R-3032-150-2T 30 32 6 35 150 2 RDMT1204MOTN TS4009A M5-0.8*8 T15 MOLDINO
RD-6R-3532-150-3T 35 32 6 35 150 3 RDMT1204MOTN TS4009A M5-0.8*8 T15 MOLDINO
RD-6R-4032-150-3T 40 32 6 35 150 3 RDMT1204MOTN TS4009A M5-0.8*8 T15  MOLDINO




REERFIWC-2D

Disposable Rapid Drilling Tools

el
o U

L1 L2 L1 L2

23 8 bt 5
119S 111Q pidey ajge

ERAEE lndexable%ﬁﬁﬁ%peciﬁcaﬁon Vilat wE 7 S"':' IRk ﬁpﬁz_]ﬁ ERRYE 'Indexable%a%%ﬁﬁpeciﬁcaﬁon Ui)ay wF ﬂsjj L4 iﬁpﬁg_]ﬁ
ModelNo- 1D mBL1 MEL2 2BL fWEd lnse Wrench ofinsert  trough ModelNo- b 7mBL1 EL 281 fWfEd et Wrench  ofinsert  through
SD14-2D-C25 14 28 5 107 25 WCMX030208 T8 M2.5X6  SUMITOMO SD40-2D-C32 40 80 60 160 32 WCMTO06T308 T15 M3.5X10 SUMITOMO

}‘ SD15-2D-C25 15 30 5 107 25 WCMX030208 T8 M2.5X6 SUMITOMO SD41-2D-C32 41 8 60 164 32 WCMTO06T308 T15 M3.5X10 SUMITOMO

| SD16-2D-C25 16 32 5% 109 25 WCMX030208 T8 M2.5X6 SUMITOMO SD42-2D-C40 42 84 65 181 40 WCMT080412 T15 M4X10  SUMITOMO
SD17-2D-C25 17 34 5 M 25 WCMX030208 T8 M2.5X6 SUMITOMO SD43-2D-C40 43 86 65 183 40 WCMT080412 T15 M4X10  SUMITOMO
SD18-2D-C25 18 36 56 113 25 WCMX030208 T8 M2.5X6 SUMITOMO SD44-2D-C40 44 88 65 185 40 WCMTO080412 T15 M4X10 SUMITOMO
SD19-2D-C25 19 38 56 113 25 WCMX030208 T8 M2.5X6 SUMITOMO SD45-2D-C40 45 90 65 187 40 WCMT080412 Tils M4X10 SUMITOMO |
SD20-2D-C25 20 0 5 116 25 WCMX040208 T8 M2.5X6 SUMITOMO SD46-2D-C40 46 @2 65 189 40 WCMT080412 T15 M4X10  SUMITOMO |
§D21-2D-C25 21 492 5% 118 25 WCMX040208 T8 M2.5X6 SUMITOMO SD47-2D-C40 47 94 65 191 40 WCMT080412 T15 M4X10  SUMITOMO
SD22-2D-C25 22 4 5% 120 25 WCMX040208 T8 M2.5X6  SUMITOMO SD48-2D-C40 48 9% 65 193 40 WCMT080412 T15 M4X10  SUMITOMO
SD23-2D-C25 23 46 56 122 25 WCMX040208 T8 M2.5X6 SUMITOMO SD49-2D-C40 49 98 65 195 40 WCMT080412 T15 M4X10  SUMITOMO
SD24-2D-C25 24 48 56 124 25 WCMT050308 T8 M3X7  SUMITOMO SD50-2D-C40 50 100 65 197 40 WCMT080412 T15 M4X10  SUMITOMO
SD25-2D-C25 25 50 56 127 25 WCMT050308 T8 M3X7  SUMITOMO SD51-2D-C40 51 102 65 199 40 WCMTO080412 T15 M4X10  SUMITOMO
SD25-2D-C32 25 50 56 136 32 WCMT050308 T8 M3X7  SUMITOMO SD52-2D-C40 52 104 65 201 40 WCMT080412 T15 M4X10  SUMITOMO
SD26-2D-C32 26 52 60 138 32 WCMT050308 T8 M3X7  SUMITOMO SD53-2D-C40 53 106 65 203 40 WCMT080412 T15 M4X10  SUMITOMO
SD27-2D-C32 27 54 60 140 3R WCMT050308 T8 M3X7  SUMITOMO SD54-2D-C40 54 108 65 205 40 WCMT080412 T15 M4X10  SUMITOMO
SD28-2D-C32 28 56 60 142 32 WCMT050308 8 M3X7  SUMITOMO SD55-2D-C40 55 110 65 207 40 WCMT080412 T15 M4X10  SUMITOMO
SD29-2D-C32 29 58 60 144 k) WCMT050308 T8 M3X7  SUMITOMO SD56-2D-C40 56 112 65 209 40 WCMT080412 T15 M4X10 SUMITOMO
SD30-2D-C32 30 60 60 146 3 WCMT050308 T8 M3X7  SUMITOMO SD57-2D-C40 57 114 65 211 40 WCMT080412 T15 M4X10  SUMITOMO
SD31-2D-C32 31 62 60 147 3R WCMTO06T308 T15 M3.5X10 SUMITOMO SD58-2D-C40 58 116 65 213 40 WCMT080412 TS5 M4X10  SUMITOMO
SD32-2D-C32 32 64 60 149 R WCMTO06T308 TI5  M3.5X10 SUMITOMO SD59-2D-C40 59 118 65 215 40 WCMT080412 T15 M4X10  SUMITOMO
SD33-2D-C32 33 6 60 151 32 WCMTO06T308 T15  M3.5X10 SUMITOMO SD60-2D-C40 60 120 65 217 40 WCMT080412 T15 M4X10  SUMITOMO
SD34-2D-C32 34 68 60 152 32 WCMTO06T308 T15 M3.5X10 SUMITOMO SD61-2D-C40 61 122 65 219 40 WCMTO6T308(— 7]/ F) T15 M3.5X10 SUMITOMO
SD35-2D-C32 35 70 60 155 32 WCMTO06T308 TI5  M3.5X10 SUMITOMO SD62-2D-C40 62 124 65 221 40 WCMTO6T308(—7I/ H) T15 M3.5X10 SUMITOMO
SD36-2D-C32 36 72 60 157 32 WCMTO06T308 TI5  M3.5X10 SUMITOMO SD63-2D-C40 63 126 65 223 40 WCMTO6T308(—7I/H) T15 M3.5X10 SUMITOMO
SD37-2D-C32 37 74 60 159 32 WCMTO06T308 TI5  M3.5X10 SUMITOMO SD64-2D-C40 64 128 65 225 40 WCMTO6T308(—7I/mA) T15 M3.5X10 SUMITOMO
SD38-2D-C32 38 76 60 159 32 WCMT06T308 TI5  M3.5X10 SUMITOMO SD65-2D-C40 65 130 65 234 40 WCMTO6T308(—7I/iF) T15 M3.5X10 SUMITOMO |
SD39-2D-C32 39 78 60 162 32 WCMTO06T308 TI5  M3.5X10 SUMITOMO




L1 - B L2 L2 o E
| = 2 — h i  — A - 5
5 G — - ikl
— . & Wy—
ESftE | ndexable?%&m ﬁpeciﬁcation TR w"FE 7 f'- Rk ﬁ§£ R EEmCER Indexa bleﬁ?ﬁﬁﬁpwﬁmﬁon TR w"F Tk BRiR iﬁ},iz_] al
ModelNo.  mp MEL1HEL2 2BL W& insert Wrench ofinsen  rough ModelNo.  ymp EL1EL2 28L #Ed i Weench  ofnsert touEn
SD14-3D-C25 14 42 5 120 25 WCMX030208 T8 M2.5X6 SUMITOMO SD40-3D-C32 40 120 60 206 32 WCMTO06T308 TI5  M3.5X10 SUMITOMO
SD15-3D-C25 15 45 5 123 25 WCMX030208 T8 M2.5X6 SUMITOMO SD41-3D-C32 41 123 60 209 32 WCMTO06T308 TI5  M3.5X10 SUMITOMO
SD16-3D-C25 16 48 56 126 25 WCMX030208 T8 M2.5X6  SUMITOMO SD42-3D-C40 42 126 65 223 40 WCMT080412 T15 M4X10  SUMITOMO
SD17-3D-C25 17 51 56 129 25 WCMX030208 T8 M2.5X6  SUMITOMO SD43-3D-C40 43 129 65 226 40 WCMT080412 T15 M4X10  SUMITOMO
SD18-3D-C25 18 54 5 132 25 WCMX030208 T8 M2.5X6  SUMITOMO SD44-3D-C40 44 132 65 229 40 WCMT080412 T15 M4X10  SUMITOMO
SD19-3D-C25 19 57 5 135 25 WCMX030208 T8 M2.5X6 SUMITOMO SD45-3D-C40 45 135 65 232 40 WCMT080412 T15 M4X10  SUMITOMO |
SD20-3D-C25 20 60 56 138 25 WCMX040208 18 M2.5X6 SUMITOMO SD46-3D-C40 46 138 65 235 40 WCMT080412 T15 M4X10  SUMITOMO
SD21-3D-C25 21 63 5 141 25 WCMX040208 T8 M2.5X6 SUMITOMO SD47-3D-C40 47 141 65 238 40 WCMT080412 T15 M4X10  SUMITOMO
SD22-3D-C25 22 66 56 144 25 WCMX040208 T8 M2.5X6 SUMITOMO SD48-3D-C40 48 144 65 241 40 WCMT080412 T15 M4X10  SUMITOMO
SD23-3D-C25 23 56 147 25 WCMX040208 T8 M2.5X6  SUMITOMO SD49-3D-C40 49 147 65 247 40 WCMT080412 T5 M4X10  SUMITOMO
SD24-3D-C25 24 72 5 150 25 WCMT050308 18 M3X7  SUMITOMO SD50-3D-C40 50 150 65 250 40 WCMT080412 T15 M4X10  SUMITOMO
SD25-3D-C25 25 75 60 161 25 WCMT050308 T8 M3X7  SUMITOMO SD51-3D-C40 51 153 65 253 40 WCMT080412 T15 M4X10  SUMITOMO
SD25-3D-C32 25 75 60 161 32 WCMT050308 T8 M3X7  SUMITOMO SD52-3D-C40 52 156 65 256 40 WCMT080412 T15 M4X10  SUMITOMO
SD26-3D-C32 26 78 60 164 32 WCMT050308 T8 M3X7  SUMITOMO SD53-3D-C40 53 159 65 259 40 WCMT080412 T15 M4X10  SUMITOMO
SD27-3D-C32 27 81 60 167 32 WCMT050308 T8 M3X7  SUMITOMO SD54-3D-C40 54 162 65 262 40 WCMT080412 T15 M4X10  SUMITOMO
SD28-3D-C32 28 8 60 170 32 WCMT050308 8 M3X7  SUMITOMO SD55-3D-C40 55 165 65 265 40 WCMT080412 T15 M4X10  SUMITOMO
SD29-3D-C32 29 8 60 173 32 WCMT050308 T8 M3X7  SUMITOMO SD56-3D-C40 56 168 65 268 40 WCMT080412 T15 M4X10  SUMITOMO
SD30-3D-C32 30 9% 60 176 32 WCMT050308 T8 M3X7  SUMITOMO SD57-3D-C40 57 171 65 271 40 WCMT080412 T15 M4X10  SUMITOMO
SD31-3D-C32 31 23 60 179 2 WCMT06T308 T15 M3.5X10 SUMITOMO SD58-3D-C40 58 174 65 214 40 WCMT080412 T15 M4X10  SUMITOMO
SD32-3D-C32 32 9% 60 182 32 WCMTO06T308 TI5  M3.5X10 SUMITOMO SD59-3D-C40 59 177 65 277 40 WCMT080412 T15 M4X10  SUMITOMO
SD33-3D-C32 33 99 60 185 32 WCMT06T308 TI5  M3.5X10 SUMITOMO SD60-3D-C40 60 180 65 280 40 WCMT080412 T15 M4X10  SUMITOMO
SD34-3D-C32 34 102 60 18 32 WCMTO06T308 TI5  M3.5X10 SUMITOMO SD61-3D-C40 61 183 65 283 40 WCMTO6T308(—7IR ) T15 M3.5X10 SUMITOMO
SD35-3D-C32 35 105 60 191 32 WCMTO06T308 TI5  M3.5X10 SUMITOMO SD62-3D-C40 62 186 65 286 40 WCMTO6T308(— 71/ H) TI5  M3.5X10 SUMITOMO
SD36-3D-C32 36 108 60 194 32 WCMTO06T308 TI5  M3.5X10 SUMITOMO SD63-3D-C40 63 189 65 289 40 WCMTO6T308(— 7]/ H) TI5  M3.5X10 SUMITOMO
SD37-3D-C32 37 111 60 197 32 WCMTO06T308 TI5  M3.5X10 SUMITOMO SD64-3D-C40 64 192 65 292 40 WCMTO6T308(—7]/H) TI5  M3.5X10 SUMITOMO
SD38-3D-C32 38 114 60 200 32 WCMTO06T308 TI5  M3.5X10 SUMITOMO SD65-3D-C40 65 195 65 295 40 WCMTO6T308(— 7]/ H) TI5  M3.5X10 SUMITOMO
SD39-3D-C32 39 17 60 203 32 WCMT06T308 TI5  M3.5X10 SUMITOMO




~td v e ? ] | ;=

e | el Tk WE RS TR e i T B TAAM EEDA
ModelNo.  ymp 71811 EL2 2BL #MEd i Wrench  ofinsert  through ModelNo- yymp m&L1 mEL2 28L W e Wrench  ofinsert  though
SD14-4D-C25 14 56 56 134 25 WCMX030208 T8 M2.5X6 SUMITOMO SD40-4D-C32 40 164 60 246 32 WCMT06T308 T15 M3.5X10 SUMITOMO
SD15-4D-C25 15 60 5 138 25 WCMX030208 T8 M2.5X6 SUMITOMO SD41-4D-C32 41 168 60 250 32 WCMTO06T308 T15 M3.5X10 SUMITOMO
SD16-4D-C25 16 62 56 142 25 WCMX030208 T8 M2.5X6 SUMITOMO SD42-4D-C40 42 172 65 265 40 WCMT080412 T15 M4X10  SUMITOMO
SD17-4D-C25 17 66 56 146 25 WCMX030208 T8 M2.5X6  SUMITOMO SD43-4D-C40 43 176 65 269 40 WCMT080412 T15 M4X10  SUMITOMO
SD18-4D-C25 18 70 5 150 25 WCMX030208 T8 M2.5X6 SUMITOMO SD44-4D-C40 44 180 65 273 40 WCMT080412 T15 M4X10  SUMITOMO
SD19-4D-C25 19 74 5% 154 25 WCMX030208 T8 M2.5X6 SUMITOMO SD45-4D-C40 45 184 65 271 40 WCMT080412 T15 M4X10  SUMITOMO |
SD20-4D-C25 20 78 56 158 25 WCMX040208 T8 M2.5X6 SUMITOMO SD46-4D-C40 46 188 65 281 40 WCMT080412 T15 M4X10  SUMITOMO
SD21-4D-C25 21 82 5% 162 25 WCMX040208 T8 M2.5X6 SUMITOMO SD47-4D-C40 47 192 65 285 40 WCMT080412 T15 M4X10  SUMITOMO
SD22-4D-C25 22 86 56 166 25 WCMX040208 T8 M2.5X6  SUMITOMO SD48-4D-C40 48 196 65 289 40 WCMT080412 T15 M4X10  SUMITOMO
SD23-4D-C25 23 90 5 170 25 WCMX040208 T8 M2.5X6  SUMITOMO SD49-4D-C40 49 200 65 293 40 WCMT080412 T15 M4X10  SUMITOMO
SD24-4D-C25 24 100 56 174 25 WCMT050308 T8 M3X7  SUMITOMO SD50-4D-C40 50 204 65 297 40 WCMT080412 T15 M4X10  SUMITOMO
SD25-4D-C25 25 104 60 186 25 WCMT050308 T8 M3X7  SUMITOMO SD51-4D-C40 51 208 65 301 40 WCMT080412 T15 M4X10  SUMITOMO
SD25-4D-C32 25 104 60 18 32 WCMT050308 T8 M3X7  SUMITOMO SD52-4D-C40 52 212 65 305 40 WCMT080412 T5 M4X10  SUMITOMO
SD26-4D-C32 26 108 60 190 32 WCMT050308 T8 M3X7  SUMITOMO SD53-4D-C40 53 216 65 309 40 WCMT080412 T15 M4X10  SUMITOMO
SD27-4D-C32 27 112 60 194 32 WCMT050308 T8 M3X7  SUMITOMO SD54-4D-C40 54 220 65 313 40 WCMT080412 T15 M4X10  SUMITOMO
SD28-4D-C32 28 116 60 198 32 WCMT050308 8 M3X7  SUMITOMO SD55-4D-C40 55 224 65 317 40 WCMT080412 T15 M4X10  SUMITOMO
SD29-4D-C32 29 120 60 202 32 WCMT050308 T8 M3X7  SUMITOMO SD56-4D-C40 56 228 65 321 40 WCMT080412 T15 M4X10  SUMITOMO
SD30-4D-C32 30 124 60 206 32 WCMT050308 T8 M3X7  SUMITOMO SD57-4D-C40 57 232 65 325 40 WCMT080412 T15 M4X10  SUMITOMO
SD31-4D-C32 31 128 60 210 32 WCMT06T308 TI5  M3.5X10 SUMITOMO SD58-4D-C40 58 236 65 329 40 WCMT080412 T15 M4X10  SUMITOMO
SD32-4D-C32 32 132 60 214 3 WCMT06T308 TI5S  M3.5X10 SUMITOMO SD59-4D-C40 59 240 65 333 40 WCMT080412 T15 M4X10  SUMITOMO
SD33-4D-C32 33 136 60 218 32 WCMT06T308 TI5  M3.5X10 SUMITOMO SD60-4D-C40 60 244 65 337 40 WCMT080412 T15 M4X10  SUMITOMO
SD34-4D-C32 34 140 60 222 32 WCMTO6T308 Ti5  M3.5X10 SUMITOMO SD61-4D-C40 61 248 65 341 40 WCMTO6T308(— 71/ H) Ti5  M3.5X10 SUMITOMO
SD35-4D-C32 35 144 60 226 32 WCMT06T308 TI5  M3.5X10 SUMITOMO SD62-4D-C40 62 252 65 345 40 WCMTO6T308(—7IFH) T5  M3.5X10 SUMITOMO
SD36-4D-C32 36 148 60 230 32 WCMTO6T308 TI5  M3.5X10 SUMITOMO SD63-4D-C40 63 256 65 349 40 WCMTO6T308(— 71/ H) TI5  M3.5X10 SUMITOMO
SD37-4D-C32 37 152 60 234 32 WCMT06T308 TI5S  M3.5X10 SUMITOMO SD64-4D-C40 64 260 65 353 40 WCMTO6T308(—71/ ) TI5  M3.5X10 SUMITOMO
SD38-4D-C32 38 156 60 238 32 WCMTO06T308 T15 M3.5X10 SUMITOMO SD65-4D-C40 65 264 65 357 40 WCMTO6T308(—ZI R F) T15  M3.5X10 SUMITOMO
SD39-4D-C32 39 160 60 242 32 WCMT06T308 TI5  M3.5X10 SUMITOMO




R

X

=)

5

REFRFIWC-5D

S B Disposable Rapid Drilling Tools

‘-: -
'

EmHR
Model No.

SD14-5D-C25
SD15-5D-C25
SD16-5D-C25
SD17-5D-C25
SD18-5D-C25
SD19-5D-C25
SD20-5D-C25
SD21-5D-C25
SD22-5D-C25
SD23-5D-C25
SD24-5D-C25
SD25-5D-C25
SD25-5D-C32
SD26-5D-C32
SD27-5D-C32
SD28-5D-C32
SD29-5D-C32
SD30-5D-C32
SD31-5D-C32
SD32-5D-C32
SD33-5D-C32
SD34-5D-C32
SD35-5D-C32
SD36-5D-C32
SD37-5D-C32
SD38-5D-C32

SD39-5D-C32

A

PREBRIRE

i

Indexable Rapid Drill Specification

78D 7EL1HEL2 2RL W&

14
15
16
17
18
19
20
21

26
27

3

&

®

36

37

70
75
80
85
%0
95
110
105
110
115
120
125
125
130
135
140
145
150
155
160
165
170
175
180
185
190
195

56

56

56

&

& 4

SISl S N & B S &N S B2 S eSS

148
153
158
163
168
173
178
183
188
193
195
21
21
216
221
226
231
236
Py
246
251
256

261

2n
276
281

25

B &8 &5 B B BB B B B B

S

32

32

32

(S

32

32

32

7R

Insert

WCMX030208
WCMX030208
WCMX030208
WCMX030208
WCMX030208
WCMX030208
WCMX040208
WCMX040208
WCMX040208
WCMX040208
WCMTO050308
WCMT050308
WCMTO050308
WCMTO050308
WCMTO050308
WCMT050308
WCMTO050308
WCMTO050308
WCMTO06T308
WCMTO06T308
WCMTO06T308
WCMTO06T308
WCMTO06T308
WCMTO06T308
WCMTO06T308
WCMTO06T308

WCMTO06T308

L2

wRFE  TIAR% BEIR

Wrench

T8

18

T8

T8

T8

T8

T8

T8

18

T8

T8

T15
T15

T15

T15

T15

T15

T15

T15

T15

Screw
of Insert

M2.5X6
M2.5X6
M2.5X6
M2.5X6
M2.5X6
M2.5X6

M2.5X6
M2.5X6
M2.5X6
M2.5X6
M3X7
M3X7
M3X7
M3X7
M3X7
M3X7
M3X7
M3X7

M3.5X10
M3.5X10

M3.5X10
M3.5X10
M3.5X10
M3.5X10
M3.5X10

M3.5X10

M3.5X10

Pass-
through
blade

SUMITOMO
SUMITOMO
SUMITOMO
SUMITOMO
SUMITOMO
SUMITOMO
SUMITOMO
SUMITOMO
SUMITOMO
SUMITOMO
SUMITCMO
SUMITOMO
SUMITOMO
SUMITOMO
SUMITOMO
SUMITOMO
SUMITOMO
SUMITOMO
SUMITOMO
SUMITOMO
SUMITOMO
SUMITOMO
SUMITOMO
SUMITOMO
SUMITOMO
SUMITOMO

SUMITOMO

—

| -

AR
Model No.

SD40-5D-C32
SD41-5D-C32
SD42-5D-C40
SD43-5D-C40
SD44-5D-C40
SD45-5D-C40
SD46-5D-C40
SD47-5D-C40
SD48-5D-C40
SD49-5D-C40
SD50-5D-C40
SD51-5D-C40
SD52-5D-C40
SD53-5D-C40
SD54-5D-C40
SD55-5D-C40
SD56-5D-C40
SD57-5D-C40
SD58-5D-C40
SD59-5D-C40
SD60-5D-C40
SD61-5D-C40
SD62-5D-C40
SD63-5D-C40
SD64-5D-C40

SD65-5D-C40

PR

Indexable Rapid Drill Specification

40

41

42

&

45

47

49

51

52

£ 8

200
205
210
215

KR

& & & & & & & & & & & &8 & &8 & &8 & &8 &8 8§ &8 &8 & & 8

245
250

260
265
270
275

g2 &

&

310

315

320

60

286
291
307
312

317

327

337
342

347

357

367
372

377

387
392

397

407
412
47

422

J14ED NEL1 HEL2 2EL REd

32

8

S S 5 R S S el S S oS S el S Bl S & S

Vala)

Insert

WCMTO06T308
WCMTO06T308
WCMT080412
WCMT080412
WCMT080412
WCMT080412
WCMT080412
WCMT080412
WCMT080412
WCMT080412
WCMT080412
WCMT080412
WCMT080412
WCMT080412
WCMT080412
WCMT080412
WCMT080412
WCMT080412
WCMT080412
WCMT080412
WCMT080412
WCMTO6T308(— 71 F)
WCMTO6T308(—7IRK)
WCMTO6T308(— 71/ Fr)
WCMTO6T308(— 71/ F)
WCMTO6T308(— 71/ F)

L2

Wrench

T15

T15

T15

T15

T15

T15

T15

T15

T15

T15

T15

T15

T15

T15

T15

T15

T15

T15

T15

T15

T15

T15

T15

T15

T15

T15

;?ﬂggh
M3.5X10
M3.5X10

M4X10

M4X10

M4X10

M4X10

M4X10

M4X10

M4X10

M4X10

M4X10

M4X10

M4X10

M4X10

M4X10

M4X10

M4X10

M4X10

M4X10

M4X10

M4X10
M3.5X10
M3.5X10
M3.5X10
M3.5X10

M3.5X10

wRF  TIRRE EETIR

trfr%slféh
blade
SUMITOMO
SUMITOMO
SUMITOMO
SUMITOMO
SUMITOMO
SUMITOMO
SUMITOMO
SUMITOMO
SUMITOMO
SUMITOMO
SUMITOMO
SUMITOMO
SUMITOMO
SUMITOMO
SUMITOMO
SUMITOMO
SUMITOMO
SUMITOMO
SUMITOMO
SUMITOMO
SUMITOMO
SUMITOMO
SUMITOMO
SUMITOMO
SUMITOMO

SUMITOMO

xapu

o
o
w
o
™




IRRIERFISP-2D

Disposable Rapid Drilling Tools

125 |11 pidey ajgexapt|

i i
91_ ° i Q; ° ﬂ 1 '.
L1 L2 L1 ‘ L 0 8
L L m

ESAR Indéxabl'e%épid Drill Specification TR RE  TIHRE EETIA ESAY '|n'dexah1e%a§iﬁ§peciﬁcation il ’RE  TIAWM EETIA

ModelNo.  ymp 71BL1 EL2 2EL HiEd e Wrench  gorew PR iroue” ModelNo-  s1mp 71 EL1 WEL2 2EL wEd b Wrench | SRR | FRstouEh
SP-2D-13-C20 13 26 50 93 20 SPMG050204 T6 M2.2X6  TAEGUTEC SP-2D-35-C32 35 70 60 156 32 SPMG110408 T15 M4X10  TAEGUTEC
SP-2D-14-C25 14 28 56 106 25 SPMG050204 T6 M2.2X6  TAEGUTEC SP-2D-36-C32 36 72 60 158 32 SPMG110408 T15 M4X10  TAEGUTEC
SP-2D-15-C25 15 30 56 108 25 SPMG050204 T6 M2.2X6 TAEGUTEC SP-2D-37-C32 37 74 60 160 32 SPMG110408 T15 M4X10 TAEGUTEC
SP-2D-16-C25 16 32 56 110 25 SPMG060204 it M2.2X6  TAEGUTEC SP-2D-38-C32 38 76 60 162 32 SPMG110408 T15 M4X10  TAEGUTEC
SP-2D-17-C25 17 34 56 112 25 SPMG060204 T7 M2.2X6  TAEGUTEC SP-2D-39-C32 39 78 60 164 32 SPMG110408 T15 M4X10  TAEGUTEC
SP-2D-18-C25 18 36 56 114 | 25 SPMG060204 T M2.2X6  TAEGUTEC SP-2D-40-C32 40 80 60 166 32 SPMG110408 T15 M4X10  TAEGUTEC
SP-2D-19-C25 19 38 56 116 25 SPMG060204 T7 M2.2X6 TAEGUTEC SP-2D-41-C32 41 82 60 168 32 SPMG110408 T15 M4X10 TAEGUTEC |
SP-2D-20-C25 20 40 S6 | 118 || 25 SPMG060204 L) M2.2X6  TAEGUTEC SP-2D-42-C40 42 84 65 181 40 SPMG140512 T20 M5X10  TAEGUTEC
SP-2D-21-C25 21 42 56 120 25 SPMG060204 T7 M2.2X6  TAEGUTEC SP-2D-43-C40 43 86 65 183 40 SPMG140512 T20 M5X10  TAEGUTEC
SP-2D-22-C25 22 44 5 122 | 25 SPMGO7T308 T8 M2.5X7  TAEGUTEC SP-2D-44-C40 44 88 65 185 40 SPMG140512 T20 M5X10  TAEGUTEC
SP-2D-23-C25 23 46 56 124 25 SPMGO7T308 T8 M2.5X7  TAEGUTEC SP-2D-45-C40 45 90 65 187 40 SPMG140512 T20 M5X10 TAEGUTEC
SP-2D-24-C25 24 48 56 126 25 SPMGO7T308 T8 M2.5X7  TAEGUTEC SP-2D-46-C40 46 92 65 189 40 SPMG140512 T20 M5X10  TAEGUTEC
SP-2D-25-C32 25 50 60 136 32 SPMGO7T308 T8 M2.5X7  TAEGUTEC SP-2D-47-C40 47 94 65 191 40 SPMG140512 T20 M5X10  TAEGUTEC
SP-2D-26-C32 26 52 60 138 @ 32 SPMGO7T308 T8 M2.5X7  TAEGUTEC SP-2D-48-C40 48 96 65 193 40 SPMG140512 T20 M5X10  TAEGUTEC
SP-2D-27-C32 27 54 60 140 32 SPMGO7T308 T8 M2.5X7  TAEGUTEC SP-2D-49-C40 49 98 65 195 40 SPMG140512 T20 M5X10  TAEGUTEC
SP-2D-28-C32 28 56 60 142 | 32 SPMG090408 T15 M3.5X8  TAEGUTEC SP-2D-50-C40 50 100 65 196 40 SPMG140512 T20 M5X10 TAEGUTEC
SP-2D-29-C32 29 58 60 144 32 SPMG090408 T15 M3.5X8  TAEGUTEC SP-2D-51-C40 51 102 65 199 40 SPMG140512 T20 M5X10 TAEGUTEC
SP-2D-30-C32 30 60 60 146 32 SPMG090408 T15 M3.5X8  TAEGUTEC SP-2D-52-C40 52 104 65 203 40 SPMGO7T308(—7I/A) T8 M2.5X7  TAEGUTEC
SP-2D-31-C32 31 62 60 148 32 SPMG090408 T15 M3.5X8  TAEGUTEC SP-2D-53-C40 53 106 65 205 40 SPMGO7T308(— 7/ H) T8 M2.5X7  TAEGUTEC
SP-2D-32-C32 32 64 60 150 32 SPMG090408 T15 M3.5X8  TAEGUTEC SP-2D-54-C40 54 108 65 207 40 SPMGO7T308(—7IRF) T8 M2.5X7  TAEGUTEC
SP-2D-33-C32 33 66 60 152 32 SPMG090408 T15 M3.5X8  TAEGUTEC SP-2D-55-C40 55 110 65 209 40 SPMGO7T308(—7I/A) T8 M2.5X7  TAEGUTEC

SP-2D-34-C32 34 68 60 154 32 SPMG110408 T15 M4X10 TAEGUTEC




IRRIERFISP-3D

Disposable Rapid Drilling Tools

R
7. 3
| |
ES
5

(a8
o
o,
[t}
s
o
A
o
(o
O
i
I

L2 L2

ESA Indéxabl'e%amﬁedﬁéaﬁon VL] |/E  TIA®E EEIA A In’dexable%ﬁiﬁl%peﬁﬁcation 7R W"FE TR\ BEIR
ModelNo- 71D M&L1I MEL2 2BL WEd == Wench e et ModelNo- gD MELT MEL2 28U — Wench e P hade o
SP-3D-13-C20 13 39 50 106 20 SPMG050204 T6 M2.2X6  TAEGUTEC SP-3D-35-C32 35 105 60 191 32 SPMG110408 T15 M4X10 TAEGUTEC
SP-3D-14-C25 14 42 56 ||120 || 25 SPMG050204 T6 M2.2X6  TAEGUTEC SP-3D-36-C32 36 108 60 194 32 SPMG110408 T15 M4X10 TAEGUTEC
SP-3D-15-C25 15 45 56 123 25 SPMG050204 T6 M2.2X6  TAEGUTEC SP-3D-37-C32 37 111 60 197 32 SPMG110408 T15 M4X10 TAEGUTEC
SP-3D-16-C25 16 48 56 | K126 | |25 SPMG060204 T M2.2X6  TAEGUTEC SP-3D-38-C32 38 114 60 200 32 SPMG110408 T15 M4X10 TAEGUTEC
SP-3D-17-C25 17 51 56 129 25 SPMG060204 T7 M2.2X6  TAEGUTEC SP-3D-39-C32 39 117 60 203 32 SPMG110408 T15 M4X10 TAEGUTEC
SP-3D-18-C25 18 54 56 ||132 |25 SPMG060204 T M2.2X6  TAEGUTEC SP-3D-40-C32 40 120 60 206 32 SPMG110408 T15 M4X10 TAEGUTEC
SP-3D-19-C25 19 57 56 135 25 SPMG060204 Ik M2.2X6  TAEGUTEC SP-3D-41-C32 41 123 60 209 32 SPMG110408 T15 M4X10 TAEGUTEC |
SP-3D-20-C25 20 60 56| | '138 F 25 SPMG060204 UL M2.2X6  TAEGUTEC SP-3D-42-C40 42 126 65 223 40 SPMG140512 T20 M5X10 TAEGUTEC
SP-3D-21-C25 21 63 56 141 25 SPMG060204 T7 M2.2X6  TAEGUTEC SP-3D-43-C40 43 129 65 226 40 SPMG140512 T20 M5X10 TAEGUTEC
SP-3D-22-C25 22 66 56 | 44 | 25 SPMGO7T308 T8 M2.5XT  TAEGUTEC SP-3D-44-C40 44 132 65 229 40 SPMG140512 T20 M5X10 TAEGUTEC
SP-3D-23-C25 23 69 56 1471 25 SPMGO7T308 T8 M2.5X7  TAEGUTEC SP-3D-45-C40 45 135 65 232 40 SPMG140512 T20 M5X10 TAEGUTEC
SP-3D-24-C25 24 72 56 150 25 SPMGO07T308 T8 M2.5X7  TAEGUTEC SP-3D-46-C40 46 138 65 235 40 SPMG140512 T20 M5X10 TAEGUTEC
SP-3D-25-C32 25 75 60 161 32 SPMG07T308 T8 M2.5X7  TAEGUTEC SP-3D-47-C4A0 47 141 65 238 40 SPMG140512 T20 M5X10 TAEGUTEC
SP-3D-26-C32 26 78 60 164 32 SPMGO7T308 T8 M2.5X7  TAEGUTEC SP-3D-48-C40 48 144 65 241 40 SPMG140512 T20 M5X10 TAEGUTEC
SP-3D-27-C32 27 81 60 167 32 SPMGO7T308 T8 M2.5X7  TAEGUTEC SP-3D-49-C40 49 147 65 244 40 SPMG140512 T20 M5X10 TAEGUTEC
SP-3D-28-C32 28 84 60 170 32 SPMG090408 T15 M3.5X8  TAEGUTEC SP-3D-50-C40 50 150 65 246 40 SPMG140512 T20 M5X10 TAEGUTEC
SP-3D-29-C32 29 87 60 173 32 SPMG090408 T15 M3.5X8  TAEGUTEC SP-3D-51-C40 51 153 65 250 40 SPMG140512 T20 M5X10 TAEGUTEC
SP-3D-30-C32 30 90 60 176 32 SPMG090408 T15 M3.5X8  TAEGUTEC SP-3D-52-C40 52 156 65 255 40 SPMGO7T308(— 71/ k) T8 M2.5X7 TAEGUTEC
SP-3D-31-C32 31 93 60 179 32 SPMG090408 T15 M3.5X8  TAEGUTEC SP-3D-53-C40 53 159 65 258 40 SPMGOTT308(—7I/F) T8 M2.5X7 TAEGUTEC
SP-3D-32-C32 32 9 66 182 32 SPMG090408 T15 M3.5X8  TAEGUTEC SP-3D-54-C40 54 162 65 261 40 SPMGO7T308(—71 /i) T8 M2.5X7  TAEGUTEC
SP-3D-33-C32 33 99 60 185 32 SPMG090408 T15 M3.5X8  TAEGUTEC SP-3D-55-C40 55 165 65 264 40 SPMGO7T308(— 71/ K) T8 M2.5X7  TAEGUTEC

SP-3D-34-C32 34 102 60 188 32 SPMG110408 T15 M4X10 TAEGUTEC




tRRERFISP-4D

Disposable Rapid Drilling Tools

iR
i
|
A
5

(oR
m
>
put]
o
o
AJ
=t
ok
o
w
1)
:a
w

L2 L2

ERA Indexable%?&?ﬂﬁfgpedﬁcaﬂon Vil wF  TIREM EBETA AR In’dexahleﬁﬁﬁl%peﬁﬁcation balat w"F  TIR®REE BEIA
ModelNo-  p MELI B2 2EL WEd i Wrench e e ModelNo- 1D ML FEL) 28L HWEd fisei Wench e P e
SP-4D-13-C20 13 52 50 19 20 SPMG050204 T6 M2.2X6 TAEGUTEC SP-4D-35-C32 35 140 60 226 32 SPMG110408 T15 M4X10 TAEGUTEC
SP-4D-14-C25 14 56 56 134 25 SPMG050204 T6 M2.2X6  TAEGUTEC SP-4D-36-C32 36 144 60 230 32 SPMG110408 T15 M4X10 TAEGUTEC
SP-4D-15-C25 15 60 56 138 25 SPMG050204 T6 M2.2X6  TAEGUTEC SP-4D-37-C32 37 148 60 2134 32 SPMG110408 T15 M4X10 TAEGUTEC
SP-4D-16-C25 16 64 56 142 25 SPMG060204 T7 M2.2X6  TAEGUTEC SP-4D-38-C32 38 152 60 238 32 SPMG110408 T15 M4X10 TAEGUTEC
SP-4D-17-C25 17 68 56 146 25 SPMG060204 T7 M2.2X6  TAEGUTEC SP-4D-39-C32 39 156 60 242 32 SPMG110408 T15 M4X10 TAEGUTEC
SP-4D-18-C25 18 72 56 150 25 SPMG060204 T7 M2.2X6 TAEGUTEC SP-4D-40-C32 40 160 60 246 32 SPMG110408 T15 M4X10 TAEGUTEC
SP-4D-19-C25 19 76 56 154 25 SPMG060204 T7 M2.2X6 TAEGUTEC SP-4D-41-C32 41 164 60 250 32 SPMG110408 T15 M4X10 TAEGUTEC |
SP-4D-20-C25 20 8 56 158 25 SPMG060204 T7 M2.2X6  TAEGUTEC SP-4D-42-C40 42 168 65 265 40 SPMG140512 T20 M5X10 TAEGUTEC
SP-4D-21-C25 21 84 56 162 25 SPMG060204 T7 M2.2X6  TAEGUTEC SP-4D-43-C40 43 172 65 269 40 SPMG140512 T20 M5X10 TAEGUTEC
SP-4D-22-C25 22 88 56 166 = 25 SPMGO7T308 T8 M2.5X7 TAEGUTEC SP-4D-44-C40 44 176 65 273 40 SPMG140512 T20 M5X10 TAEGUTEC
SP-4D-23-C25 23 92 56 170 25 SPMGO07T308 T8 M2.5X7  TAEGUTEC SP-4D-45-C40 45 180 65 277 40 SPMG140512 T20 M5X10 TAEGUTEC
SP-4D-24-C25 24 9% 56 174 25 SPMGO07T308 T8 M2.5X7  TAEGUTEC SP-4D-46-C40 46 184 65 281 40 SPMG140512 T20 M5X10 TAEGUTEC
SP-4D-25-C32 25 100 60 186 32 SPMGO7T308 T8 M2.5X7  TAEGUTEC SP-4D-47-C40 47 188 65 285 40 SPMG140512 T20 M5X10 TAEGUTEC
SP-4D-26-C32 26 104 60 190 32 SPMGO07T308 T8 M2.5X7  TAEGUTEC SP-4D-48-C40 48 192 65 289 40 SPMG140512 T20 M5X10 TAEGUTEC
SP-4D-27-C32 27 108 60 194 32 SPMGO07T308 T8 M2.5X7  TAEGUTEC SP-4D-49-C40 49 196 65 293 40 SPMG140512 T20 M5X10 TAEGUTEC
SP-4D-28-C32 28 112 60 198 32 SPMG090408 T15 M3.5X8  TAEGUTEC SP-4D-50-C40 50 200 65 297 40 SPMG140512 T20 M5X10  TAEGUTEC
SP-4D-29-C32 29 116 60 202 32 SPMG090408 T15 M3.5X8  TAEGUTEC SP-4D-51-C40 51 204 65 301 40 SPMG140512 T20 M5X10 TAEGUTEC
SP-4D-30-C32 30 120 60 206 32 SPMG090408 T15 M3.5X8  TAEGUTEC SP-4D-52-C40 52 208 65 307 40 SPMGO7T308(— 71/ H) T8 M2.5X7  TAEGUTEC
SP-4D-31-C32 31 124 60 210 32 SPMG090408 T15 M3.5X8  TAEGUTEC SP-4D-53-C40 53 212 65 311 40 SPMGO7T308(—7IRiF) T8 M2.5X7 TAEGUTEC
SP-4D-32-C32 32 128 60 214 32 SPMG090408 T15 M3.5X8  TAEGUTEC SP-4D-54-C40 54 216 65 315 40 SPMGO7T308(—7IRH) T8 M2.5X7  TAEGUTEC
SP-4D-33-C32 33 132 60 218 32 SPMG090408 T15 M3.5X8  TAEGUTEC SP-4D-55-C40 55 220 65 319 40 SPMGO7T308(— 71/ ) T8 M2.5X7  TAEGUTEC

SP-4D-34-C32 34 136 60 222 32 SPMG110408 T15 M4X10 TAEGUTEC




IRERERFISP-5D

Disposable Rapid Drilling Tools

EamUsR
Model No.

SP-5D-13-C20
SP-5D-14-C25
SP-5D-15-C25
SP-5D-16-C25
SP-5D-17-C25
SP-5D-18-C25
SP-5D-19-C25
SP-5D-20-C25
SP-5D-21-C25
SP-5D-22-C25
SP-5D-23-C25
SP-5D-24-C25
SP-5D-25-C32
SP-5D-26-C32
SP-5D-27-C32
SP-5D-28-C32
SP-5D-29-C32
SP-5D-30-C32
SP-5D-31-C32
SP-5D-32-C32
SP-5D-33-C32
SP-5D-34-C32
SP-5D-35-C32
SP-5D-36-C32
SP-5D-37-C32
SP-5D-38-C32
SP-5D-39-C32

SP-5D-40-C32

g
Indexable Rapid Drill Specification
78D 7N EL1 HEL2 2EL HE&d

13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40

65
70
75
80
85
90
85
100
105
110
115
120
125
130
135
140
145
150
155
160
165
170
175
180
185
190
195
200

50
56
56
56
56
56
56
56
56
56
56
56
60
60
60
60
60
60
60
60
60
60
60
60
60
60
60
60

132
148
153
158
163
168
173
178
183
188
193
198
21
216
227
226
231
236
241
246
241
246
251
256
261
266
270
275

20
25
25
25
25
25
25
25
25
25
25
25
32
32
32
32
32
32
32
32
32
32
32
32
32
32
32
32

D

|

o] |-' ":"
L1 ‘ ‘ L2
L

Vil wWFE  TIRBEHR BEEIIR

Wench  giiew,  Pasgibvoush
SPMGO050204 T6 M2.2X6 TAEGUTEC
SPMG050204 T6 M2.2X6 TAEGUTEC
SPMG050204 T6 M2.2X6 TAEGUTEC
SPMG060204 T7 M2.2X6 TAEGUTEC
SPMG060204 T7 M2.2X6 TAEGUTEC
SPMG060204 T7 M2.2X6 TAEGUTEC
SPMG060204 T7 M2.2X6 TAEGUTEC
SPMG060204 T8 M2.2X6 TAEGUTEC
SPMG060204 T7 M2.2X6 TAEGUTEC
SPMGO7T308 T8 M2.5X7 TAEGUTEC
SPMGO7T308 T8 M2.5X7 TAEGUTEC
SPMGO7T308 T8 M2.5X7 TAEGUTEC
SPMGO7T308 T8 M2.5X7 TAEGUTEC
SPMGOT7T308 T8 M2.5X7 TAEGUTEC
SPMGO7T308 T8 M2.5X7 TAEGUTEC
SPMG090408 T15 M3 5X8 TAEGUTEC
SPMG090408 T15 M3 5X8 TAEGUTEC
SPMG090408 T15 M3 5X8 TAEGUTEC
SPMG090408 T15 M3 5X8 TAEGUTEC
SPMG090408 T15 M3 5X8 TAEGUTEC
SPMG090408 T15 M3 5X8 TAEGUTEC
SPMG110408 T15 M3 5X8 TAEGUTEC
SPMG110408 T15 M3 5X8 TAEGUTEC
SPMG110408 Til5 M3 5X8 TAEGUTEC
SPMG110408 T15 M3 5X8 TAEGUTEC
SPMG110408 T15 M3 5X8 TAEGUTEC
SPMG110408 T15 M3 5X8 TAEGUTEC
SPMG110408 T15 M3 5X8 TAEGUTEC

tREERFIWDX-2D

Disposable Rapid Drilling Tools

R
Model No.

WDX13 -C20-2D-29L
WDX13.5-C20-2D-30L
WDX14-C20-2D-31L
WDX14.2-C20-2D-31L
WDX14.5-C20-2D-32L
WDX15-C20-2D-33L
WDX15.5-C20-2D-34L
k7L
WDX15.5-C20-2D-34
WDX16 -C20-2D-35L
WDX16.5-C20-2D-36L
WDX17 -C20-2D-37L
WDX17.5-C25-2D-38L

WDX18.5-C25-2D-40L

WDX18.5-C25-2D-40L
WDX19 -C25-2D-41L
WDX20.5-C25-2D-44L
WDX22 -C25-2D-47L
WDX23 -C25-2D-49L
WDX23.5-C25-2D-50L
WDX24 -C25-2D-51L
WDX26 -C32-2D-55L
WDX28 -C32-2D-59L
WDX28.5-C32-2D-60L

WDX29 -C32-2D-62L

WDX29 -C32-2D-62L
WDX29.5-C32-2D-63L
WDX41 -C40-2D-87L

WDX44 -C40-2D-93L

7E
D

13.0

13.5
14.0
14.2
14.5
15.0
15.5
15.5
16.0
16.5
17.0
17.5
18.5
18.5
19.0
20.5
22.0
23.0
235
24.0
26.0
28.0
285
29.0
29.0
295

41.0

1 12
|
o o
|
Indaable%a%%ﬁﬁpeciﬁcaﬁon {ﬁ.ﬁl 75 wRE J'JJ_'-'.'ﬁﬁ% ’%ﬁ
BEOORDEOE RS ARRR e v oint g
88 29 44 44 20 28 0.35 WDXT042004 T5 TS1604 SUMITOMO
89 30 45 44 20 28 0.30 WDXT042004 T5 TS1604 SUMITOMO
90 31 46 44 20 28 0.25 WDXT042004 TS5 TS1604 SUMITOMO
90 31 46 44 20 28 0.25  WDXT042004 TS5 TS1604 SUMITOMO .
91.0 32.0 47.0 44 20 28 0.20 WDXT042004 T5 TS1604 SUMITOMO
92 33 48 44 20 28 0.15 WDXT042004 T5 TS1604 SUMITOMO
93.0 34.0 490 44 20 30 0.40 WDXT052504 T6 TS2005 SUMITOMO
93 34 49 44 20 30 0.40 WDXT052504 T6 TS2005 SUMITOMO
94.0 35.0 50.0 44 20 30 0.40 WDXT052504 T6 TS2005 SUMITOMO
95 36 51 44 20 30 0.35 WDXT052504 T6 TS2005 SUMITOMO
96.0 37.0 52.0 44 20 30 0.30 WDXT052504 T6 TS2005 SUMITOMO
109 (M384 S53N RG6 N FZ25 0 132 0.25  WDXT052504 T6 TS2005 SUMITOMO
111.0 40.0 55.0 56 25 33 0.50 WDXT063006 T6 TS2206 SUMITOMO
T (N4 550 E56H F 25 |33 0.50 WDXT063006 T6 TS2206 SUMITOMO
112.0 41.0 560 56 25 33 0.45 WDXT063006 T6 TS2206 SUMITOMO
115 (N4 59N EHE | E25 | £33 0.30 WDXT063006 T6 TS2206 SUMITOMO
118.0 47.0 62.0 56 25 33 0.10 WDXT063006 T6 TS2206 SUMITOMO
123 | 49| | 67 || 56 || 25 37 0.70 WDXT073506 T8 TS2206 SUMITOMO
124.0 50.0 68.0 56 25 37 0.70  WDXT073506 T6 TS2206 SUMITOMO
HZ5 (RSTN EEIN ESG N E25 0 (=3 0.60 WDXT073506 T6 TS2206 SUMITOMO
135.0 55.0 75.0 60 32 41 0.40 WDXT073506 T6 TS2206 SUMITOMO
1353 594 NTON Na0M FE2IN (E4q 0.15  WDXT073506 T6 TS2206 SUMITOMO
140.0 60.0 80.0 60 32 M 0.10  WDXT073506 T6 TS2206 SUMITOMO
743 (RG24 B3N NGO ES20 (250 1.00 WDXT094008 T15 TS3507 SUMITOMO
143.0 62.0 83.0 60 32 50 1.00  WDXT094008 T6 TS2206 SUMITOMO
144 63 84 60 32 50 0.95 WDXT094008 T6 TS2206 SUMITOMO
187.0 87.0 117.0 70 40 495 0.70 WDXT125012 T20 TS5011 SUMITOMO
193 93 123 70 40 495 0.50 WDXT125012 T20 TS5011 SUMITOMO

44.0

SUREE




- R TJ_&E%&?@?I_JW@(GD

| pidey ajgexspu|

3 5

A 1 A =
} o T .0 S T =
.f. I ; = |_ '5
i
BRI BX . REERRAE RA _ :
ERAL Indexable Rapid Drill Specification EeE TR RFE TIRR%% %ﬁ EmLsR Indexable Rapid Drill Specification Fre Tk WFE TR ’%ﬁ
Model No. JJ@ 2E 71 7JE *ﬁﬁ mﬁ ﬂﬁ .ﬁﬂfmmt Insert Wrench Oﬁns‘:ﬂ Pass-through Model No. ﬁ i& 7]5 J& ﬁﬁ *ﬁ& ﬁﬁ hhé'jamemn Insert Wrench Ofll'r"les‘gft Pass—tl'lrough
L 1 1(11) d1 Limit blade 1 1(11) 12 Limit blade
WDX13 -C20-3D-42L  13.0 101.0 420 57.0 44 20 28 035 WDXT042004 T5 TS1604 SUMITOMO WDX24 -C25-3D-75L 24.0 149.0 75.0 93.0 56 25 37 0.60 WDXT073506 T8  TS2506 SUMITOMO
WDX13.5-C20-3D-43.5L 13.5 102.5 435 585 44 20 28  0.30 WDXT042004 T5 TS1604 SUMITOMO WDX25 -C25-3D-78L 25.0 152 78 96 56 25 37 050 WDXT073506 T8  TS2506 SUMITOMO
WDX14 -C20-3D-45L 14.0 104.0 450 60.0 44 20 28 025 WDXT042004 T5 TS1604 SUMITOMO WDX26 -C32-3D-81L 26.0 161.0 81.0 101.0 60 32 41 040 WDXT073506 T8  TS2506 SUMITOMO
WDX14.3-C20-3D-43L 143 122 43 66 56 20 325 025 WDXT042004 T5 TS1604 SUMITOMO WDX28 -C32-3D-87L 280 167 87 107 60 32 41 0.15 WDXT073506 T8 TS2506 SUMITOMO
WDX14.5-C20-3D-46.5L 14.5 1055 46,5 61.5 44 20 28 0.0 WDXT042004 T5 TS1604 SUMITOMO WDX28.5-C32-3D-88.5L 28.5 168.5 88.5 1085 60 32 41  0.10 WDXT073506 T8  TS2506 SUMITOMO
WDX15 -C20-3D-48L  15.0 107 48 63 44 20 28  0.15 WDXT042004 T5 TS1604 SUMITOMO WDX29.5-C32-3D-92.5L 29.5 173.5 92,5 113.5 60 32 50 0.95 WDXT094008 T15 TS3507 SUMITOMO
WDX16 -C20-3D-51L  16.0 110.0 51.0 66.0 44 20 30  0.40 WDXT052504 T6  TS2005 SUMITOMO WDX30-C40-3D-94L  30.0 178.0 94.0 1180 60 32 54 0.90 WDXT094008 T15 TS3507 SUMITOMO

WDX16.5-C20-3D-52.5L 16.5 111.5 525 67.5 44 20 30 035 WDXT052504 T6  TS2005 SUMITOMO
WDX17 -C20-3D-54L  17.0 113.0 540 69.0 44 20 30 030 WDXT052504 T6  TS2005 SUMITOMO
WDX17.5-C25-3D-55.5L 17.5 126.5 555 70.5 56 25 32 025 WDXT052504 T6  TS2005 SUMITOMO
WDX18 -C25-3D-57L  18.0 128.0 57.0 72.0 56 25 32 020 WDXT052504 T6  TS2005 SUMITOMO
WDX18.5-C25-3D-58.5L 18.5 129.5 585 73.5 56 25 33  0.50 WDXT063006 T6  TS2206 SUMITOMO

WDX19 -C25-3D-60L 19.0 131.0 60.0 75.0 56 25 33 0.45 WDXT063006 Te  TS2206 SUMITOMO 1\*%%$§|JWDX_4D
7N

WDX19.5-C25-3D-61.5L 19.5 1325 615 765 56 25 33 0.40 WDXT063006 T6  TS2206 SUMITOMO Disposable Rapid DrillingTools
L

WDX19.8-C25-3D-63L  19.8 134.0 63.0 78.0 56 25 33  0.30 WDXT063006 T6  TS2206 SUMITOMO

WDX19.9-C25-3D-63L 199 134 63 78 56 25 33 030 WDXT063006 T6  TS2206 SUMITOMO

WDX20 -C25-3D-63L 20.0 134.0 63.0 780 56 25 33 0.30 WDXT063006 T6  TS2206 SUMITOMO

\
SRk, ;: v
WDX20 -C25-3D-63L° 20.0 134 63 78 56 25 33 030 WDXT063006 T6  TS2206 SUMITOMO ) =
WDX20.5-C25-3D-64.5L 20.5 1355 645 795 56 25 33 0.30 WDXT063006 T6  TS2206 SUMITOMO
WDX21 -C25-3D-66L  21.0 137 66 81 56 25 33 020 WDXT063006 T6  TS2206 SUMITOMO — o
[ s ) ; PORMAIE B
WDX21.5-C25-3D-66L 7 21.5 137.0 66.0 81.0 56 25 33 020 WDXT063006 T6 TS2206 SUMITOMO RO Indexable Rapid Drill Specification L wRFE AR
Model No. 7]@ 2R 7IR & AR WE SME Jadmm  nsert Wrench of.r',i"e”,t Pass-through
WDX22 -C25-3D-69L  22.0 140 69 84 56 25 33 0.0 WDXT063006 T6  TS2206 SUMITOMO L1 1) 2 d dl " imit blade

WDX24 -C25-4D-99L 24.0 173 99 117 56 25 37 0.60 WDXTO073506 T8  TS2506 SUMITOMO
WDX23 -C25-3D-T2L 23.0 146.0 72.0 90.0 56 25 37 0.70 WDXT073506 T8  TS2206 SUMITOMO

WDX23.5-C25-3D-73.5L 23.5 147.5 735 915 56 25 37  0.70 WDXTO73506 T8  TS2206 SUMITOMO




ABPFEKTI#HoF I{ T1F 1844 Screw of Insert

Ball Knife Locking Tooth Type

vs)
o
=
=
o
&
=
=
o
-
LN
@
3
M
wv

el S B R

ABPF-10-1T-M6 2 ZPFG100 581-142=M3X0.35  T10 ----

- TS1604 M1.6%0.35 4.2 2.4 2.5 T5

1 ZPFG160 581-144=M5X0.5 T20

ABPF-16-1T-M8 16

ABPF-25-1T-M12 25 125 38 1 ZPFG250 581-146=M6X0.75 T30

TS2206 M2.2%0.45 5.6 3.05 3.1 T7

ABPF-32-1T-M16 2 17 43 mMie 1 ZPFG320 581-147=M8X0.75 T30

TS25066 M2.5%0.45 6 35 0.7 T8

ABPFEKTIEWI(

Ball knife straight handle

ABPF-1012-100-1T ZPFG100 581-142=M3X0.35

ABPF-1620-130-1T : ZPFG160 581-144=M5X0.5 T20

ABPF-2532-150-1T 32 150 ZPFG250 581-146=M6X0.75 T30

ABPF-3232-160-1T 3 32 160 ZPFG320 581-147=M8X0.75 T30

TS2508 M2.5%0.45

TS3507 M3.5%0.6

TS4009A M4*0.7

TS5011 M5*0.8




HNEL R

Tungsten Steel Anti-seismic
Extension Rod

IS B ALE RAF

Tungsten Steel Back Extension Rod

W _

—————

it oimeons (o) LES EHIRT |
S BEE HE 2R HEE Collet  Pull BackWrench ERRE  WE SME MR EMA A ERRH g ME R ER A
D D2 L L1 Model No. Specification D L Model No. Specification D L

LYHC8-100L 8 8 100 CS-4 T25 LY-DW10D-100L-M5 ~ 10-100-M5 10 100 55 M5  LY-DW20D-150L-M10 20*150-M10 20 150 10.5 MI0
LYHC10-100L 10 10 100 CE4 T3 LY-DW10D-150L-M5  10-150-M5 10 150 55 M5 LY-DW20D-200L-M10 20*200-M10 20 200 10.5 MI10
LYHC10-150L 10 10 150 CE4 T3 LY-DW10D-200-M5  10-200-M5 10 200 55 M5  LY-DW20D-250L-M10 20*250-M10 20 250 105 M10
LYHC12-100L 12 12 100 CE6 T4 LY-DW10D-100L-M6  10*100-M6 10 100 65 M6  LY-DW20D-300L-MI0O 20*300-M10 20 300 105 MI10
LYHCI12-150L P 1 150 CE6 T4 LY-DW10D-150L-M6  10*150-M6 10 150 65 M6  LY-DW24D-150L-M12 24*150-M12 24 150 125 MI2
LYHCL12-150L S5 12 12 150 CE6 T4 LY-DW10D-200L-M6  10*200-M6 10 200 65 M6  LY-DW24D-200L-M12 24*200-M12 24 200 125 MI2
LYHC16-150L 16 125 150 50 CE6 T4 LY-DW12D-100L-M6  12*100-M6 12 100 65 M6  LY-DW24D-250L-M12 24*250-M12 24 250 125 MI2
LYHCL16-150LE &3 16 125 150 50 CE6 T4 LY-DW12D-150L-M6  12*150-M6 12 150 65 M6 LY-DW24D-300L-M12 24*300-M12 24 300 125 Mi2
LYHC16-200L 16 125 200 50 CE6 T4 LY-DW12D-200L-M6  12*200-M6 12 200 65 M6  LY-DW25D-150L-MI2 25*150-M12 25 150 125 MI2
LYHCL16-200L £ 16 125 200 50 CE6 T4 LY-DW15D-100L-M8  15*100-M8 15 100 85 M8  LY-DW25D-200L-M12 25%200-M12 25 200 125 MI2
LYHC20-150L 20 20 150 CE10 T5 LY-DW15D-150L-M8  15*150-M8 15 150 85 M8 LY-DW25D-250L-M12 25*250-M12 25 250 125 MI12
LYHCL20-150L £ 20 20 150 CE10L T5 LY-DW15D-200L-M8  15*200-M8 15 200 85 M8  LY-DW25D-300L-M12 25*300-M12 25 300 125 MI2
LYHC20-200L 20 20 200 CE10 T5 LY-DW15D-250L-M8  15*250-M8 15 250 85 M8  LY-DW25D-350L-MI2 25*350-M12 25 350 125 MI2
LYHCL20-200L Ef&5 20 20 200 CE10L T5 Ly-DW16D-100L-M8  16*100-M8 16 100 85 M8 LY-DW25D-400L-M12 25*400-M12 25 400 125 MI12
LYHC20-250L 20 20 250 CE10 15 LY-DW16D-150L-M8  16*150-M8 16 150 85 M8  LY-DW32D-150L-M16 32*150-M16 32 150 165 M16
LYHCL20-250L &5 20 20 250 CE10L T5 LY-DW16D-200.-M8  16*200-M8 16 200 85 M8  LY-DW32D-200L-M16 32*200-M16 32 200 165 M16
LYHC20-300L 20 20 300 CE10 T5 LY-DW16D-250L-M8  16*250-M8 16 250 85 M8  LY-DW32D-250L-M16 32*250-M16 32 250 165 MI16
LYHCL20-250L &5 20 20 300 CE10L T5 LY-DW16D-300L-M8  16*300-M8 16 300 85 M8 LY-DW32D-300L.-M16 32*300-M16 32 300 165 M16
LY-DW19D-100L-M10 19*100-M10 19 100 105 M™M10  LY-DW32D-350L-M16 32*350-M16 32 350 165 MI16
LY-DW19D-150L-M10 19*150-M10 19 150 105 M10  LY-DW32D-400L-M16 32*400-M16 32 400 165 M16

LY-DW19D-200L-M10 19*200-M10 19 200 105 MI0

LY-DW19D-250L-M10 19*250-M10 19 250 105 MI0

LY-DW19D-300L-M10 19*300-M10 19 300 105 MI10

LY-DW20D-100L-M10 20*100-M10 20 100 105 MI10




UXDs&5E

UXD Drill

D4.1-D4.7 66 24 36

D10.1-D12 89 47 40

D14.1-D16 107 60 45

D18.1-D20

D3-D3.7

D4.1-D4.7 66 24 36 6

D6.1-D7 79 34 36 8

D8.1-D10 89 47 40 10

D12.1-D14 107 60 45 14

D16.1-D18 123 73 48 18




EXD#55E

EXD Drill

D6.1-D8

D10.1-D12

D14.1-D16

D18.1-D20

D4.1-D4.7 66 24 36 6

I
e ——

D6.1-D7 79 34 36 8

D10.1-D12 102 55 45 12

PAVETAL

D14.1-D16

D18.1-D20 131 79 50 20




HEC HhE DL BSD#5iZ#8

HEC Hydraulic Chucks, BT BSD Fine Boring Systems, BT/ABT

n i
=
0
3!
(=]
3
@
7]
i
]
2
7.

BORZER

Min. Clamping Length _ m Set - 3| E0E : :
meme | waw | SUE e v oo oo
Shanks Boring Heads
= BT30-AK1-070 | BSD19 20~26 | 2 | 67| 19 | 31 | 100
T o &5l 8 8 -AK2-040 48 75
8 & ~ Fa
g0 | BSD24 25~ 33 | 1 s 2 T
-AK3-040 53 80
75 | BSD31 32~ 42 | 1 = 3| — e
-AK4-040 64 85
o75 | BSD39 41~54 | 1 =1 | =
-AK5-065 | BSD50 53~ 70 | 1 95 | 50 | — | 120
-AK6-084 | BSD64 68~100 | 1 | 128 | &4 | — | 155
o BT40-AK1-070 1 70 — [ 100
i 2d L u op1 | @p2 | op3 7 “ G 420 | BSD19 2026 [ | | 19 [ o 150
: . ) 170 200
BT30-HEC06-075 6 MO5*P0.80 P -AK2-080 1 83 — | 115
-HEC08-075 8 = 29 2 8 9 30 MO6*P1.00 ‘ | Effective Depth of Machining M 125 | BSD24 25~33 |, | g5 | 24 | 45 | 160
-HEC10-080 10 28 30 i MO8*P1.25 75 210
-HEC12-080 12 4 55 30 32 - i -AK3-095 1 | 103 —: | 15
-HEC14-080 14 . " T 150 | BSD31 - 42 [, | o | 31 [ 55 [190
-HEC16-080 16 ' 200 240
-HEC20-095 20 95 42 45 48 50 54 49 -AK4-090 1 | 105 — | 135
145 | BSD39 41~ 54 39 190
“40""5‘:06'??3 & 1?8 MO5*P0.80 , L 195 e | 1 0 240
HEC08.080 o0 29 26 28 40 30 ERITEM -AK5-080 1 | 105 — [135
Les 8 — MO&*P1.00 Effectve Depth of Machining ¥ 135 | BSD50 53~-70 | , | 140 | 50 | [ 190
185 150 240
HEQ 9:233 10 133 28 30 MO08*P1.25 -AK6-065 104 135
46 120 | BSD64 68~100 | 1 | 159 | &4 | — [190
Gt z:fzg 12 133 30 32 M10*P1.50 170 209 240
e o 39 50 40 -AK6-065 104 135
55 14 = 120 | BSD90 100~153 | 1 | 159 | 64 | — | 190
g ) = 36 38 170 209 240
120 120 BT50-AK1-105 31 | 135
-HEC20-105 105 . 170 | BSD19 20~2 | 2 | 72| 19 200
s 20 - 48 47 50 80 49 M12*P1.75 220 40 o
-HEC25-105 - 105 - i - - at 5 -AK2-110 1 — | 145
135 135 175 | BSD24 25~33 [, |00 24 | [210
-HEC32.120 2 120 5 57 " 75 65 225 260
150 150 ' 80 65 Z = | A
P, Features\\ AK3-120 1 | 115 60
200 | BSD31 32~ 42 31 240
BT50-HEC06-090 . 90 F— 2 | 120 50
120 120 ” ”s ” % % ' o BSD19~BSDY0 ELIEILEES : @20~3153 « _N“:f:g B fﬁ‘;
e 8 = MO6*P1.00 o REDEERRDLKIEE - BRIERE Bl 195 | BSD39 | 41~ 54 39 240
-HEC10-105 105 AL Lo A % a0
135 10 135 28 30 MO08*P1.25 e Boring range of BSD19~BSD90: @20~@153. -AK5-110 122 165
46 . . 185 | BSD50 53~70 | 1 | 192 | 50 | — | 240
7 e The hold lant d atible f
-HEC12 :(3); 12 122 30 32 M10*P1.50 e ho :rﬁls czu a.n type and compatible for o5 o5 =5
= 39 40 40 rough and fine boring system. -AK6-095 126 165
-HEC14-105 105
g 14 L 170 | BSD64 68~100 | 1 | 201 | &4 | — | 240
T - 36 38 210 241 280
e 16 e -AK6-095 126 165
170 | BSD90 100~153 | 1 | 201 | 64 | — | 240
HECE0-109 20 107 48 47 50 80 49 M12*P1.75 -210 241 280
135 135 ”
-HEC25.120 120
S5 25 = 49 49 52 81 50
-HEC32-135 135 65
68 32 1on 70 59 62 75 80 o




0
o
0
g
(=]
3
@
7]
P
]
2
7.

BSHE )&

BSH Twin-cutter Boring Systems, BT/ ABT

nERE | WEE | Gued Fe M oD oot L
Shads |Bordighesds|
BT30-AK2-040 50 75
a0 | BSHZS 25-33 | 1 o 24| — |
-AK3-040 50 75
ops | BSH32 2-45 | 1 o 81| — o
-AK4-040 63 85
o5 BSHa4 4-63 | 1 o | —
-AK5.065 | BSH62 62-89 | 1 | 97| 50 | — | 120
BT40-AK2-080 1 | 85 — [ 115
425 | BSH25 25~ 33 24 160
475 2| ™ 4 210
-AK3-095 1 100 — | 130
, . 450 | BSH32 32~ 45 31 185
BRMTAM -200 2 . 50 535
_ Edfactive Depth of Machining M AK4-090 1 104 _ 135
145 | BSH44 44~ 63 39 190
o 2 | 102 50 20
-AK5.080 107 ~ 135
435 | BSH62 62-89 | 1 [142| 50 [ [ 190
185 152 240
-AK6-065 103 135
4120 | BSH88 88-126 | 1 | 158 | 64 | — [ 190
170 208 240
BT50-AK2-110 1 — [ 145
475 | BSH25 25-33 | , | 102 24 [, | 210
225 260
-AK3-120 1| 112 — | 155
200 | BSH32 32~ 45 31 235
-240 & || T
-AK4-120 1 | 121 — | 165
195 | BSH44 44~ 63 39 240
o 2 | 126 50 a0
-AK5-110 124 165
485 |  BSH62 62-89 | 1 194 | 50 | — [ 240
225 234 280
-AK6-095 125 165
470 | BSH88 88-126 | 1 | 200 | 64 | — | 240
210 240 280
R Features ™\ -AK6-095 131 170
o BSH25~BSH125 EEAGEER : @25-0175 - 470 PSHiay' | S-18 | 1 08 ) edd | o | 2B
210 246 285

o RETNEEBRIMLIKIDEE » BI85 - g
HEINE -

o JIFEERARIIEGH - HERE - BRE - B
B LIEREE -

e Boring range of BSH25~BSH125: @25~@175.

® The holder is coolant type and compatible for
rough and fine boring system.

® Both insert holder and boring head have gullets,

it could make combination tightly, more stable.

BSD-ST#5iE#8

BSD-ST Fine Boring Systems

BHIIEM
Effective Depth of Machining M

BSH-STE )& #8

BSH-ST Twin-cutter Boring Systems

L

BERMIEM |
. Effective Depth of Machining M

| o g | PRangs
ST32-AK1-050 BSD19 20~ 26 75 19 160
-AK2-070 BSD24 25~ 33 100 24 180
-AK3-090 BSD31 32~ 42 32 31
-AK4-085 BSD39 41~ 54 125 39 205
-AK5-075 BSD50 53~ 70 50
-AK6-060 BSDé64 68~100 64
ST42-AK2-070 BSD24 25~ 33 100 24 180
-AK3-090 BSD31 32~ 42 31
-AK4-085 BSD39 41~ 54 42 39
-AK5-075 BSD50 53~ 70 L 50 =
-AK6-060 BSDé64 68~100 64
TERE | WEm | M M gD oD L
Shanks Boring Heads Gt
ST32-AK2-070 BSH25 25~33 102 24 185
-AK3-090 BSH32 32~45 122 3 31 200
-AK4-085 BSH44 44~63 124 39 | 200
-AK5-075 BSH62 62~89 127 50 205
ST42-AK2-070 BSH25 25~33 102 24 185
-AK3-090 BSH32 32~45 119 42 AN 200
-AK4-085 BSH44 44~63 124 39 200
-AK5-075 BSH62 62~89 127 50 | 205




0
=
0
g
=1
3
(]
7]
7
]
2
7.

AKiE3LTDE

AK Modular Boring Shanks, BT/ ABT

ol Fg. | @b | oD L ]
BT30-AK1-070 2 19 31 70 35
-AK2-040 40
-080 L 2% - 80 -
-AK3-040 ; - B 40 B
.075 75
-AK4-040 40
-075 ! 39 - 75 -
-AK5-065 1 50 — 65 —
-AK6-084 1 64 — 84 —
BT40-AK1-070 1 —_ 70 —_
120 19 120
170 2 G 170 i
-AK2-080 1 — 80 _
125 24 125
75 2 8 175 =
-AK3-095 1 — 95 -
150 31 150
200 % 0 200 &
-AK4-090 1 — 90 —
145 39 145
195 2 0 195 o
-AK5-080 1 = 80 =
135 50 135 83
-185 2 55 185 93
-AK6-065 65
4120 1 64 s 120 e
170 170
BT50-AK1-105 31 105
170 2 19 i 170 40
-220 220
-AK2-110 1 — 110 —
175 24 175
-225 2 45 225 &
-AK3-120 1 = 120 =
-200 31 200
o 2 50 s 80
-AK4-120 1 = 120 =
195 39 195
.235 2 w0 235 &
-AK5-110 110
-185 1 50 i 185 -
.225 225
-AK6-095 95
170 1 64 - 170 -
-210 210

SCAKERHE 1R
SCAK Straight Carbide Holders

G
.
e Features\\ Part No. L @D G
i ﬁ:gg\z -;ts)g:: BSD19 ;gg 19 MO04*P0.50
P A = I .
o WASTRA - BILHER ST19-SCAK1-250L 250
o BRMIERILIELINT BRI - ST24-SCAK2-200L 200
e With coolant through hole. ST24-SCAK2-250L BSD24 250 24 MO5*P0.50
® Made of carbide, excellent rigidity. bl L
. . - 5T31-SCAK3-250L 250
e Improve deep hole boring machining condition. ST31.SCAK3-300L BSD31 300 3 MO&*P0.75
ST31-SCAK3-400L 400




0
o
0
g
(=]
3
@
7]
P
]
2
7.

FBH/\E#5 1+

FBH Modular Fine Boring Systems, BT/ ABT

T FovmE Pem | od|ep| L
Shanks FBH Boring Heads -
BT30-FBH55-080 FBH55 4.0~32 12 55 | 125
-AK6-084 FBH64 4.0~40 16 64 | 130
BT40-FBH55-057 FBH55 4.0~32 12 55 | 102
-AK6-065 FBH64 4.0~40 16 64 | 110
BT50-FBH55-080 FBH55 4.0~32 12 55 | 125
-AK6-095 FBH64 4.0~40 16 | 64 | 140
® FBH/)\EXEHEEE
FBH Fine Boring Heads
B N Dronge Fig. | @d @D | L
FBH55 4.0~32 1 12 55 47
FBH64 4.0~40 1 16 64 47

o RIMEZL - TIHELDHEIE -
o SRIRERRRMZERMBE » WERIEREZ 7 BIRFRIF -
o TE(EIMERAT » SESTIERASHIEIRM S - MITRAHEL -
® With coolant supply.

® Please use the correct hexagon wrenches according operations.

e Before adjusting, the screw "S” should be loosened.

o B AAER » BZIEREES 0.005 mm ¢ (B 0.01 mm)
o BIRSZIE 0.001 mm « (EE)

e One division on the scale corresponds to 0.005 mm movement,

or 0.01 mm diametrical adjustment.

e High precision vernier setting to 0.001 mm. (dia)

® {EnEHF
Spare Parts
Part No. o @ % 3
FBH55 M.800.000.550 X.0855-M080P125-0060 Z-FBH-11-55
FBH64 B.BSD.LS.64 X.0855-M100P150-0100 Z-FBH-11-64

FBH84 5 #EERE D#

FBH84 Modular Fine Boring Systems, BT/ ABT

Fig. 1

\@d

@D

@D
(P2 NG
bodd

FAEITE Max 28 mm
2Mavemant Max 28 mi

& N
N 2%
; J@ I o] |
[O bed| =3
i ‘
| KEETD - SR
| | Boring bars: ordering separately
4
g IR o FBHEE | o @E |
Part No. @ Range "9 | BoringHead | “® | @D
BT40-FBH84 1 150
BT50-FBH84 140
NT40-FBH84 8~280 : FBH.84 20 84 100
NT50-FBH84 110
o NT 7JiETJERHEEH S NT40 « UNC5/8"-11/ NT50 : UNC1"-8 »
® Inch thread of NT holder is available. NT40: UNC5/8"-11 / NT50: UNC1"-8.
® FBH¥EHERE
FBH Fine Boring Head
Part No. @ Range Movement 2d @b L
FBHB4 8~280 28 20 84 89
o BN ZIER  BABBUERELE 001 mm -
o FRIKERREMZ EFRAR - WLERIERL 7 VERTFIRE -
e Easily read by large dials. One division on the main scale corresponds
to 0.01 mm movement.
® Please use the correct hexagon wrenches according operations.
® FBH84 iETJ1%
FBH84 Boring Bars
g 1E: TESLRE BRIA
Part No. @ Range M Inserts
BJ.008.006 8~ 11 32 TBGT060102L
BJ.010.006 10~ 13 40 TBGT060104L
BJ.012.009 12~ 17 53 TPGHO0%0202L
BJ.016.009 16~ 21 68 TPGHO090204L
BJ.020.011 20~130 83
BJ.025.011 25~135 96 TPGH110302L
BJ.030.011 30~140 115 TPGH110304L
BJ.120.011 120~280 84+BT bar




0
=
0
oy
(=]
5
m
;-
m
3
7

BSHA3IL&E#ED#E

BSH Twin-cutter for Large Boring, BT/ ABT

y

BSTX3ILE#E

BST Large Boring Master Shanks (type), BT/ ABT

M .
I :
— o
& AN
| g ~OH l{}
= @ i L4l
Jl ? L : ® @7 < e ,¢_
£ = |
= o o1 [ 1o
.
J " K1 Features \ ) - o

K1 Features N\

o BSH A3LEIEICRER AL AT A& e -
o JFERARIIEEE  FERY  ENEE - IBSTIFNEK -
o 1EIFEE @175~@375 °

e BST large boring master shanks have several combinations.
a. With S25-BSB-T16-150S: rough boring systems. (Fig 1.)
b. With $25-BST-BSD31-135 and BSD fine boring head: fine

o BST ASLEREDIETSBERMES -
a. F&AC S25-BSB-T16-150S EIRRABHET] - (Fig 1.)
b. {&fic 525-BST-BSD31-135 JJZELUR BSD ¥&iEtERI IR -

e BSH twin-cutter is designed for large boring.
e Both insert holder and bridge adaptor have gullets; it could

make combination tightly, more stable.

e Boring range: @175~@375. (Fig 2. brinig systome: (Fig 2.
o FRIIENFIE ©150~@640 - T4 1SO EERRE » HEZE e Boring range: @150~@640. Insert is ISO specification, easily
SHES - to buy.
o BIERESERM  BELEET  TEERIEARRH R #IN s Bridge adaptor is aluminum alloy, light weight design let set
THZEH - up easily.
BRTITHIE TR miza by THE 3550 M L
Set Shanks Shanks Connection | Bridge Adaptor | InsertHolder = @A Range BETTRE TSR B e $ESLAEE o 1
Set Shanks Shanks Connection Bridge Adaptor @A Range -
BT50-BSH175-167 |  BT50-SM32-060 129 | 167 '
-207 -100 1311-BSH175 175~225 169 | 207 BT40-BST150-152 BT40-5M32-060 B.BST150 150~240 142 | 152
-257 150 219 | 257 192 -100 192
BT50-BSH225-167 | BT50-SM32-060 129 | 167 -BST230-152 BT40-5M32-060 B.BST230 230~320 220 132
.207 -100 1311-BSH225 | 1310-BSH125 225~275 169 207 -192 -100 192
; - -BST300-152 BT40-SM32-060 152
= 130 4313.8sH.5M32 TSR 2% L 257 — oo B.BST300 300~400 290
BT50-BSH275-167 | BT50-5M32-060 firsart] 129 | 167 1313-BSH-SM32
-207 -100 1311-BSH275 | CCMT1204 275~325 169 | 207 -BST380-152 BT40-5M32-060 B.BST380 380~480 370 122
-257 -150 219 | 257 -192 -100 192
BT50-BSH325-167 | BT50-SM32-060 129 | 167 BSTAR0-152 PT0-SHS2 000 B.BSTA60 460~560 as0 122
-207 -100 1311-BSH325 325~375 169 | 207 357540:::: BT40-SM32::}22 ::j
-257 -150 219 | 257 : 5
s e B.BST540 540~640 530 o0

o SB [U75#Ai3,7)28E2 BSD ¥ElsEREEMm -
® SBsquare shank boring bars and BSD fine boring heads: ordering separately.




0
=
0
g
=1
3
(]
7]
7
]
2
7.

BSTX3LE#EIHE

BST Large Boring Master Shanks (type), BT/ ABT

1313-BSH-5M32

BT50-BST150-152 BT50-5M32-060
-BST150-192 -100
-BST150-242 -150

BT50-BST230-152 BT50-5M32-060
-BST230-192 -100
-B5T230-242 -150

BT50-BST300-152 BT50-5SM32-060
-BST300-192 -100
-BST300-242 -150

BT50-BST380-152 BT50-SM32-060
-BST380-192 -100
-BST380-242 -150

BT50-BST460-152 BT50-SM32-060
-BST460-192 -100
-BST460-242 -150

BT50-BST540-152 BT50-5M32-060
-BST540-192 -100
-BST540-242 -150

B.BST150

150~240

142

152

192

242

B.BST230

230~320

220

152

192

242

B.BST300

300~400

290

152

192

242

B.BST380

380~480

370

152

192

242

B.BST440

460~560

450

152

192

242

B.BST540

540~640

530

152

192

242

SB PUFSHmHER, JJ5REE BSD fEMTEREEMR -
® SB square shank boring bars and BSD fine boring heads: ordering separately.

BSTX3L&E#EHE
BST Large Boring Master Shanks (typeT), BT/ ABT

BT40-BST090-120 BT40-SM27-055
-165 -100
-195 130
BT50-BST090-125 BT50-5M27-060
-165 -100
-215 -150
-265 -200
-315 -250

B.BST090

90~120

80

120

165

195

125

165

215

265

315

SB PO75HE3, D488 BSD FEIEEREMER -
® SB square shank boring bars and BSD fine boring heads: ordering separately.

NR-AZWD I HEHREE L
NR-AZWD Adjustable Chucks, BT

151 Features \

o JI&MIBTHEZE "0 I -

o HYREH - 2258  JJRMRIEREET —REERLE -

e The tool tip position can be adjusted to "0" position.

® The accumulated error value of the spindle, the chuck, and

the tool can all be adjusted and corrected at the same time.

il o et L | u | | g | BEER| EE
BT30-NR16AZWD-100 55 100 =
115 40 62 45 70 115 M18*P1.50 NR16 W-FK0&
BTA0 D190 3.0~16.0 40 62 45 33 100 M18*P1.50, NR16 W-FK06&
-115 70 115
BT40-NR25AZWD-115 16.0~25.0 55 80 45 70 115 M28*P1.50 NR25 W-FK08
BT50-NR16AZWD-110 55 110 &
125 3.0~16.0 40 62 55 70 125 M18*P1.50 NR16 W-FK0&
BT50-NR25AZWD-125 16.0~25.0 55 80 55 70 125 M28*P1.50 NR25 W-FK08




FANR#®EIIEE T L SRKIE #1 2 [ ir 52 #5 7 38
FANR Fine Adjustable Chucks, BT SRK Shrink Fit Chucks, Straight Shank

n i
=
0
g
(=]
3
@
7]
i
]
2
7.

mLEERE
Min. Clamping Length
< M,‘
o] 1
) - S
S \ 8§
| : & |
EE1-45
MNumber 1~4 Noted
| \ | mmemam [
7 4AdjustableScrews _
THERE @d @D1 @D2 L1 L2
Shanks hs
ST12-SRK06-120 120
! -SRK06-160 6 12 10 160 2
ST16-5RK06-120 120
uF ‘ S oy i SRK06-160 é 10 160 23
-SRK08-120 120
-SRK08-160 8 18 12 160 &
-SRK10-120 120
-SRK10-160 " " 160 A
— ST20-SRK06-160 6 160 23
2
Adjustto Zp::n -5RK06-300 300
-SRK08-160 160
1
-SRK08-300 8 20 4 300 4
-SRK10-160 10 160 33
-5RK10-300 300
R Features N\ AR (R -SRK12-160 160
H : -SRK12-300 12 8 300 8
. BESRNEAENFENSTSEnERcEmE - Run-Out Adjusting $T25.SRK06.160 160 X
[ 3
=) i | T ” 5 =
TR .
(=] ~ £l - -
- Effecti it T h bl A o %ﬁﬁﬂtﬁmﬁﬁa 1 ﬁﬁﬂﬁﬁﬁﬁﬁ‘}ﬁ s -SRK08-300 8 300 27
. p ““"eh?“ ”"‘?“d;"” © run-out problem caused oM, e T AU IMEIRIRAE Y  ERISEHENE » EEHEEE 2 um - SRK10-160 " 160 -
A:‘ mach SRR AN oo fingy e ; ® Loosen the four screws on the adjust ring. -SRK10-300 25 300
*lyssvie ROyt ancumEy o od ing Rirectyondie ® Align mark 1 screw (on the adjusting ring) with the highest run-out point. s dbial ] 12 20 1
machine. . -SRK12-300 300
® Use the T wrench to adjust run-out half decreased, then check the SRK14-160 160 38
e Increase the stability of inner hole machining; reduce . . . , 14
run-out again. Repeat the adjust process till the run-out is around 2 ym. -SRK14-300 300
the surface roughness. SRK16-160 160
-SRK16-300 1 - 300 a8
ST32-SRK10-160 10 160 33
-SRK10-300 2 300
s ] | - smtsEa 5T SRK12:160 " 160
Part No. @ Range 2 @D1 L G “Collets Wrench -SRK12-300 300 5
-SRK14-160 160
BT40-FANR13-090 3.0~13.0 34 56 90 M14*P1.00 NR13 W-D34 SRK14-300 14 300
-SRK16-160 16 32 160
-SRK16-300 27 300 40
-SRK18-160 18 160
-SRK18-300 300
-SRK20-160 160
-SRK20-300 4 300 44




SGEREHER L SGER®E ™ E 3L

SGER Collet Chucks (pinsa99), BT SGER Collet Chucks (pinsass), BT

0
=
n |
g
(=]
3
@
7]
i
]
2
7.

4-M06*P1.00 i L4
el Fig. | HRE g1 oD2 @D3| L1 |12 | 13 [ 15| G e | s | i
BT40-SGER16-070 70| 34
100 | 1 — [ 100 ] 64 -
-120 0.5~10.0 | 444 | 34 120 | 84| 9 67 M11*P1.00 | SGER165X ER16 | W-FKO5
160 36.9 | 160 | 124
2 80
-200 383 200 | 164
Fig.1 -SGER20-070 70| 34
-100 | 1 — [ 100 | 64 -
-120 1.0~13.0 | 444 | 38 120 | 84| 9 68 M14*P1.00 | SGER20SX ER20 | W-FK06
R H 160 |, 394 160 | 124 .
-200 39.9 | 200 | 164
-SGER25-070 70| 34
100 | 1 100 | 64
-120 10~160 |444| 44 | — [120| 84| 9 | 68 | — | MI8*P1.50 | SGER25SX | ER25 | W-FKO7
160 | 160 | 124
-200 200 | 164
-SGER32-070 70| 34
100 | 1 100 | 64
-120 20~200 (524 52 | — [120| 84| 9 | 76 | — | M24*P1.50 | SGER32SX | ER32 | W-FK08
-160 5 160 | 124
-200 200 | 164
-SGER40-070 70| 34
2100 | 1 100 | 64
4-MOSTP100 L4 -120 25-260 |624| 62 | — [120| 84| 9 | 85 | — | M28*P1.50 | SGER4OSX | ER4D | W-FKO9
-160 2 160 | 124
-200 200 | 164
BT50-SGER16-080 80| 33
100 | 1 — [100] s3 -
-120 05~100 |69.8 | 34 120 73] 9 | &7 M11#P1.00 | SGER16SX | ER16 | W-FKO5
-160 36| 160 | 128
200 | ° 436 [ 200 | 168 =
-SGER20-080 80 | 33
100 | 1 — [100] 53 -
Fig. 3 -120 1.0~130 | 69.8 | 38 120 73| 9 | 68 M14*P1.00 | SGER20SX | ER20 | W-FK06
-160 40 160 | 128
200 | ? 47.6 | 200 | 168 5
-SGER25-080 80| 33
-100 1 — | 100 | 53 -
Pﬁﬁo i Fig. m ol P B e e 2 - m wﬁ?&. :ig 1.0-160 | 69.8 | 44 - :Eg 1;: 9 | 73 M18*P1.50 | SGER25SX | ER25 | W-FKO7
. = 2 80
BT30-SGER16-060 60 | 29 -200 53.6 | 200 | 168
-080 05-100 444 34 | — | 80| 49 | 9 |586| — | MI1*P1.00 | SGER16SX | ER16 | W-FKOS -SGER32-080 80 | 33
-100 100 | 69 -100 1 — | 100 | 53 -
-SGER20-060 60 | 29 -120 20~200 | 698 52 120 73] 9 | 76 M24*P1.50 | SGER32SX | ER32 | W-FKO8
080 | 1 | 1.0~130 44438 | — | 80| 49 | 9 |655 — |M14*P100 | SGER20SX | ER20 | W-FKO6 160 | 54 | 160 | 128 5
-100 100 | &9 -200 56.8 | 200 | 168
-SGER25-060 60 | 29 -SGER40-080 80 | 33
-080 10~160 (444 | 44 | — | 80| 49 | 9 |69 | — | MI8*P150 | SGER25SX | ER25 |W-FKO7 -100 | 1 100 | 53
-100 100 | 69 -120 25~260 698 | 62 | — [120| 73| 9 | 86 | — | M28*P1.50 | SGERAOSX | ER4O | W-FKO9
-SGER32-070 70| 27 70 M18*P1.50 -160 160 | 128
00 | 3 | 20200 |524| 52 | — oo 8 o — oo SGER32SX | ER32 | WLFK08 ks ol




0
=
0
g
(=]
3
@
7]
P
]
2
7.

HANERFDE

Adaptors for Threaded Shank End-mill, BT/ ABT

R - FZEE
Threaded Shank End-mill: Ordering Sep

Part No. @d @D @D1 L Lt L2 G
BT40-M06-087 6.5 9.8 20 MO&*P1.00
-M08-087 8.5 13.0 23 MO08*P1.25
-M10-087 10.5 18.0 25 87 50 10 M10*P1.50
-M12-087 12.5 21.0 24 M12*P1.75
-M16-087 34 *
M16127 17.0 29.0 9 127 9 M16*P2.00
BT50-M12-125 125 21.0 35 125 75 M12*P1.75
-M16-125 34 10 .
M16-200 17.0 29.0 8 200 150 M16*P2.00

FMAmE #7148

FMA Face Mill Holders, BT/ABT

|22]
@D1

u

L1

PC.D@101.6
AT T
] 4 ;
1 ‘ M16+P2.00

Rg . _ _

Part No. Fig. @D @D1 @D2 L L1 G W
BT30-FMA25.4 -050 1 25.4 50 - 50 18 M12*P1.75 9.525
BT40-FMA25.4 -045 1 B 45

-090 25.4 50 90 18 M12*P1.75 9.525
-150 2 58 150
-FMA31.75 -045 45
-075 3 31.75 60 - 75 20 M16*P2.00 12.7
130 130
-FMA38.1  -060 38.1 78 60 25 M20*P2.50 15.875
BT50-FMA25.4 -050 1 53
-090 - 90
-150 25.4 50 60 150 18 M12*P1.75 9.525
-200 2 200
-250 70 250
-FMA31.75 -050 53
-075 1 = 75
105 31.75 60 105 20 M16*P2.00 12.7
150 ) 70 150
-200 75 200
-FMA38.1 -055 : B 55
075 38.1 78 75 M20*P2.50 15.875
-150 2 88 150 25
-FMA50.8 -050 48 .
e 1 50.8 98 _ o M24*P3.00 19.05
-FMA47.625-080 3 47,625 128.57 83 30 — 25.4




SM7RE 8t 038 SMARBIEE D2

SM Shell Mill Holders, BT/ ABT SM Shell Mill Holders, BT/ ABT

0
=
n |
3!
(=]
3
@
7]
i
]
2
7.

i Fig. o> | op1 | op2 L L G w
3 BT30-5M16-050 16 38 16 MO8*P1.25 8
5 -SM22-050 1 22 48 - 50 18 M10*P1.50 10
B -5M27-050 27 52 20 M12%P1.75 12
BT40-5M16-050 16 38 50 16 MO8*P1.25 8
-SM22-055 1 = 55
4100 22 48 100 18 M10*P1.50 10
150 2 58 150
-SM27-055 55
4100 27 58 100 20 M12%P1.75 12
4130 1 130
-SM32-060 - 60 .
oo 32 62 T 23 M16*P2.00 14
-5M40-060 60
= =0 3 40 88 s 27 M20*P2.50 15.875
BT50-5M16-050 1 = 50
T - 16 38 5 e 16 MO8*P1.25 8
-SM22-060 ; B 40
-100 100
159 22 48 & 150 18 M10*P1.50 10
Fig. 2 -200 " 62 200
-250 68 250
-300 73 300
-SM27-060 . B 60
4100 100
150 150
ook 500 , 27 58 2 200 20 M12%P1.75 12
250 250
-300 73 300
-5M32-060 ; _ 60
4100 32 78 100 23 M16*P2.00 14
150 2 88 150
-5M40-050 50
M12+P1.75 -100 3 40 89 100 27 M20*P2.50 15.875
-150 - 150
-5M60-090 4 60 129.1 90 25 - 25.4

P.C.D @101.6

L1

[

[

|

|

[

|

f

1
P—-v‘_'_"—

@D
[%1p]]

M16*P2.00

Fig. 4




s TRYOBERIE TROOBESR/JIE
5. TR90 Angle Head Chucks, BT TR90 Angle Head Chucks, BT
3
o E7SE
o Rotation

PEFEHTSAEE (28 - M04) IREFE TS A5

CCW (Parameter: M04) cw ® Eﬁfj‘ﬁ
Rotation
'\.‘
i\ HEE R EEEEE
Main Spindle Angle Shaft
o FIFREEH FESSEISES (28 : M04) [alal=
Max. min™’ CCW (Parameter: M04) cw
PartNo. .
: __ | fecw) e BR=iEE
BT40 / HSK63A 1:0.81 3,000 2,430 Max. min~*
BT50 1:0.96 2,500 2,400 ﬁ#ﬁ m i | " T8
Part No. Gear Ratio Maiﬁ"Spin'dle (CCW) | Angle Shaft (CW)

BT50 | 1:0.96 2,500 2,400

JE
i B -
@m @am

o BEMIHES -

e Delivery with wrench. Fig. 1 Fig. 2

BT40-TR90-ER32 -160 ; 2.0~20.0 65 | 160 | 40 | 65 | 95 | 86 | 50 | 88 | 65 | 171 — o _

BT50-TR90-ER40 -195 2.5~26.0 a6 |05 | a1 | 70 F10] o7 821 55 | 96 1 Part No. @ Range @d1 A L U 2| | M| e ed| eD2| @0

-TR90-5M22-195 2 = 22 108 48 190
HSK63A-TR90-ER32 -185 1 2.0~20.0 — | 65 | 185 | 40 | 65 | 95| 86 | 50 | 88 | 65 | 171 BT50-TR90-TSA30-195 = — | 80 [ 195 | 44 | 86 | 87 | 94 | 48 | 90 | 70 | 177
. 3 o T i diaetion ol macki indleshoildB i aAale shat. o WHTIENSOBREAERER - « The rotation direction of machine spindle should be reverse with angle shaft.
mmiﬁﬁaﬁ@mﬁ%ﬁﬁﬁﬁ e rotation direction macnine Spll"l e snou e reverse wi ang e sna’ o *Wzmﬁﬁﬁﬂﬁ“ S - P|eaSe make e the Spind|e s in CCW d[rechon

o WIERTERT RS - o Please make sure the spindle rotates in CCW direction.




. UAHEHREEDE TRHAEEEDE
§ UAH Universal Angle Head Chucks, BT TRH Angle Head Chucks, BT
-
e | 'QD
Aaﬁu_{igH_m_-iac ‘ T 1 ] ‘
0L WHED @D - Eg =

'

cw
Max

5 =gl

cw

Max
3,000min™

~ L pr}
-—
120°~0° 0°~-120°
aa
\/'ﬁ T
74 . 52 A
e o :
8 ® - =0k %1
\\\
.\
% |

R Features N\

o EARSRELIE -
o IEIEERRIEE -
e Suitable for high speed and light cutting.

e These chucks have self-holding function.

] SR . WG EE (min) (0 )
Part No. @DRange | A | L | M | @C | @E | @Q | "Cijets | Max(min-')(Main Spindle: Angle Shaft)
BT40-UAH-ER32-135 65 135 6,300 3,000
BT50-UAH-ER32-150 | 2.0~20.0 80 150 73 62 84 157 ER32 (1:0.48)
HSK63A-UAH-ER32-160 65 | 160 o
o WHTHEESOBEAEREEE - s The rotation direction of machine spindle should be same with angle shaft. _ _ _ _ i o -
o EEBIHRIRRETITHE - » Please make sure the spindle rotates in CW direction. Pﬁﬁo ﬁ?; A L L1 L2 |[L3| M @D @D1/@D2 @Q %ﬁg& Max {m{;‘;%}lﬁﬁg ATEE)SH aft)
BT30-TRHC16-140 75 [ 140 4000 : 4.000
I BT40-TRHC16-130 6.0~16.0 | 65 |129.5| 29 55.5| 46 |67.5| 34 | 59 |525[112| HC16 : 1 1;
BT50-TRHC16-145 80 | 145 )
o WIRTWIESSORREEEMAR - ® The rotation direction of machine spindle should be reverse with angle shaft.

o RIS IEE - e Please make sure the spindle rotates in CCW direction.




TRNRAERJE TRSNAEBEIE
TRN Angle Head Chucks, BT TRSN Angle Head Chucks, BT

0
=
0
oy
(=]
5
m
-
m
3
7

i ccw
. 4,000min~
O ‘
\ A T
-
L
——l==
T i 5 : B |, S
) | ® <] A
cw |
Max = =
4,000min"" ~ |
AN e |
L 4 | 5
' e _rY f
5000min  \_/
oQ
P
7 I 240
| 7 | - @D |4
3 8 - o ]
N\ | Tl =
. H_\_|‘_Fl / .\—1_/.." r
13 | @
o JRERINT - o ITEEINNT - o {HIF -
sasT ® Drilling Machining. e End-mill Machining. e Chamfering.

o ERIEKZAEERER » FUEMSIE -
o (E[RIERZARSRER » FOEMSEIR - Cannot use End-mill type collet.

Cannot use End-mill type collet.
ﬁﬁ LS L] A i L1 M ﬁﬁﬂm&m : !ﬁﬂﬁ( {minf1)_($ﬁ.= ﬁﬁ} _
Part No. @ Range Precision Collets = Max (min~") (Main Spindle: Angle Shaft)
8 BRFFERE | : nalonn| oy | REBEEE | RESE (min) (ZH : B
Part No. ORange| A| L |L1| 12|13 | M @D GD1@D2 BQ| b icion Collets| Max (min-") (Main Spindle: Angle Shaft) BT30-TRSNR6-180 75 | 180 sa | 07
i i BT40-TRSNR6-170 65 170

BT30-TRNR13-140 751140 4000 : 4.000 * BT40-TRSNR6-260 65 260 | 138 | 195 5,600 : 5,000

BT40-TRNR13-130 | 3.0~13.0 | 65 | 129.5| 29 |46.7/43.2/67.5| 35| 59 |52.5]/100 NR13 ' (1 1') BT50-TRSNR6-185 S0=el) 80 185 50 107 NBOS (1:0.88)

BTSO-TRNR13-145 80 | 145 i *BT50-TRSNR6-275 80 275 138 185
o MMEEIRESORREAETEER - * The rotation direction of machine spindle should be reverse with angle shaft. * HSK63A-TRSNR6-190 65 190 50 107
o BIEREWRLITEES - * Please make sure the spindle rotates in CCW direction. o WM TINIEESOEEAEEER - e The rotation direction of machine spindle should be reverse with angle shaft.

o [EEWSOIEEETMRPRIIRE - » Please make sure the spindle rotates in CCW direction.

o [k : HELEE - e Symbol%: Customized production.




TRSNBERIE REBEER

TRSN Angle Head Chucks, BT Run Out Checking Fixture
1) L Sow o IRESMIMEEH -
- o OEHREBHEER 1./ -
| > o RIFHEEDRIHK 1.7 > 300mmAB3uMA -

\ | FHEERSE
) I '@) @'
{ A

L1

cwW M ‘ ]
Max | % | || ..} 1
5,000min~' L _

15.5
=~
w©
w

o FBEANT - o YISEJIONT - o -
® Drilling Machining. ® End-mill Machining. e Chamfering.

NTNo. | A | B

ISO20 | 160|180 |162|157.5| 90 | 35 | 27 kg
15025 | 160|180 | 162 |157.5| 90 | 35 | 27 kg
BT30 160|180 | 162 |157.5| 90 | 35 | 27 kg
BT40 160 | 180 | 162 |157.5| 90 | 35 | 27 kg
BT50 160|180 | 162 |157.5| 90 | 71 | 28kg
DIN30 | 160|180 | 162 |157.5| 90 | 35 | 27kg

o ERERKIZAEERER » FAIERSDE -
Cannot use End-mill type collet.

N & Range Lo s |axie i mront o oso 160|180 162 197 50 | 71 | 76l

A M i i . . ) . g

Part No. @ Range Precision Collets | Max (min~') (Main Spindle: Angle Shaft) CAT30 | 160 180 | 162 |157.5] 90 | 35 | 27kg

BT30-TRSNR10-180 75 180 50 107 CAT40 | 160|180 | 162 [157.5| 90 | 35 | 27 kg

_ BT40-TRSNR10-170 65 | 170 | " | CAT50 | 160|180 | 162 [157.5| 90 | 71 | 28kg

*BTAOTRSNR10-260 | o .o | 65 260 | 138 | 195 — 5,600 : 5,000 HSK25 | 160|180 162[157.5/ 90 | 35 | 27kg

BT50-TRSNR10-185 ’ ' 80 185 50 107 (1:0.88) HSK32 |[160|180 162 |157.5| 90 | 35 | 27kg

*BT50-TRSNR10-275 80 275 138 185 HSK40 | 160 | 180 | 162 |157.5| 90 | 35 | 27 kg

* HSK63A-TRSNR10-190 65 190 50 107 HSK50 | 160|180 162 |157.5| 90 | 35 | 27kg

o EWTEIFESOEREREEER - e The rotation direction of machine spindle should be reverse with angle shaft. HSKé3 | 160 | 180 | 162 |157.5| 90 | 35 | 27kg

o [ESR/5CIMERS L M0 Ry 1 HiEsS - e Please make sure the spindle rotates in CCW direction. HSK100| 160 | 180 | 162 [157.5| 90 | 96 | 30kg
o R ML - e Symbol¥: Customized production.

s HSK: A/E FH -



ABOUT LIANYI

AhkhkhkhkhkhkhkhkhkhkhkhkhkdhhkhkAhkhkhhkhkrAhkhkAAhkrA A hkArhhhkhkhkhhkhkkhhkhhhhkhhhk

0
=
0
oy
=l
=
(]
)
>3
o
m
3
w

HTIRBE -3 - 1080 H 5
EARNRFAT ERRNESRSE
BRES ISR SRBE R AT
BB 0 RE RN RE R
pelestin SEENIE B
_ Use the tools to make fine points and lines
that reflect the impressive precision
: in the light due to different turning angles,
and represents the professional quality and technology
of the LIANYI team

AlF - IEEIXNESBREHRSEEE  —"ERRESCEENTR - ERSEBRLE - REERY
REEES  #ERBSNOMER  UEENAERSELRATTHREESNER » BRSHMELRETINT
SRS 0 UBRIFNEfKEESEEY  SEHENER  TERERENTIERBERTME -
Innovation, research and development of products with excellent stability and quality in the precision
industry has always been the objective of LIANYL. This also reflects the core value of our team. LIANYI regards
each product as the fruit of its labors. By analyzing market demand for products from professionals and
based on years of experience, we process proper materials to deliver finished products and create high-
stability and high-quality products. LIANYI has made its mark in the market.

PRI - EHTEPREFR ST 0 BMMHGNEE  BERUTDRELSHE RNVEERE - At ERTE

IFaced with an increasingly competitive international market, we took the initiative to create visible
professional know-how so we can adhere to

TESERERETRARIRGEE - WS TRALERERIERIAES

"Professional design and development skills combined with the advantages
of good technology for tool production quality"

AMAREREABEZERAFLERSRE 0 ET—H0  BESRSERE  WEHAIKRE
REERHEESANER > FRREISEER 0 REEEENERER o

President Huang, the founder of LIANYI, leads the team to support each othe
actively participates in various exhibitions to develop the next generation
of internationalization, using diverse professional technology to expand into

globe and grow an international professional team.

ko A PR A E

LiANY SEEEER)




